# ශී ලංකා පුජාතාන්තික සමාජවාදී ජනරජයේ ගැසට් පතුය The Gazette of the Democratic Socialist Republic of Sri Lanka

අංක 1,881 – 2014 සැප්තැම්බර් 19 වැනි සිකුරාදා – 2014.09.19 No. 1,881 – FRIDAY, SEPTEMBER 19, 2014

(Published by Authority)

# PART I : SECTION (I) – GENERAL

(Separate paging is given to each language of every Part in order that it may be filed separately)

Dign

PAGE			FAGE
—	Government Notifications		845
	Price Control Orders		—
	Central Bank of Sri Lanka Notices		_
ı —	Accounts of the Government of Sri Lanka		—
	Revenue and Expenditure Returns		—
	Miscellaneous Departmental Notices		845
838	Notice to Mariners		_
_	"Excise Ordinance" Notices		_
		—       Government Notifications          —       Price Control Orders          —       Central Bank of Sri Lanka Notices         Accounts of the Government of Sri Lanka         n       —         Accounts of the Government of Sri Lanka         n       —         Miscellaneous Departmental Notices         838       Notice to Mariners	

Note.— Land (Restriction on Alienation) Bill was published as a supplement to the Part II of the Gazette of the Democratic Socialist Republic of Sri Lanka of August 15, 2014.

### IMPORTANT NOTICE REGARDING ACCEPTANCE OF NOTICES FOR PUBLICATION IN THE WEEKLY "GAZETTE"

ATTENTION is drawn to the Notification appearing in the 1st week of every month, regarding the latest dates and times of acceptance of Notices for publication in the weekly *Gazettes*, at the end of every weekly *Gazette* of Democratic Socialist Republic of Sri Lanka.

All notices to be published in the weekly *Gazettes* shall close at 12.00 noon of each Friday, two weeks before the date of publication. All Government Departments, Corporations, Boards, etc. are hereby advised that Notifications fixing closing dates and times of applications in respect of Post-Vacancies, Examinations, Tender Notices and dates and times of Auction Sales, etc. should be prepared by giving adequate time both from the date of despatch of notices to Govt. Press and from the date of publication, thereby enabling those interested in the contents of such notices to actively and positively participate please note that inquiries and complaints made in respect of corrections pertaining to notification will not be entertained after **three months** from the date of publication.

All notices to be published in the weekly *Gazettes* should reach Government Press two weeks before the date of publication *i.e.* notices for publication in the weekly *Gazette* of 10th October, 2014 should reach Government Press on or before 12.00 noon on 26th September, 2014.

#### Electronic Transactions Act, No. 19 of 2006 - Section 9

"Where any Act or Enactment provides that any proclamation, rule, regulation, order, by-law, notification or other matter shall be published in the Gazette, then such requirement shall be deemed to have been satisfied if such rule, regulation, order, by-law, notification or other matter is published in an electronic form of the Gazette."

Department of Govt. Printing, Colombo 08, January 01, 2014. This Gazette can be downloaded from www.documents.gov.lk



P. H. L. V. DE SILVA, Acting Government Printer.

DAGE

### Other Appointments, &c.

#### No. 442 of 2014

#### MINISTRY OF JUSTICE

#### Justices of the Peace Appointments

I, Rauff Hakeem, Minister of Justice by virtue of the powers vested in me by Section 45 (2) of the Judicature Act, No. 02 of 1978 do hereby appoint –

- 1. Mr. YAPA MUDIYANSELAGE TILAK YAPARATHNA to be a Justice of the Peace for the Whole Island;
- 2. Rev. ERAMUDULIYADDE UPANANDA Thero to be a Justice of the Peace for the Whole Island;
- 3. Mr. MARIYAPILLAI SELVARAJ to be a Justice of the Peace for the Whole Island;
- 4. Mr. THEBUWANA ACHARIGE SOMARATNA to be a Justice of the Peace for the Whole Island;
- 5. Mr. DASANAYAKA MUDIYANSELAGE DAMMIKA BANDARA DASANAYAKA to be a Justice of the Peace for the Whole Island;
- 6. Rev. BALANGODA SUBODHI Thero to be a Justice of the Peace for the Whole Island;
- 7. Mr. OVITIGALA KANKANAMALAGE SUDATH ANJANA OVITIGALA to be a Justice of the Peace for the Whole Island;
- 8. Mr. KODAGODA JANAKA RANAWEERA to be a Justice of the Peace for the Whole Island;
- 9. Mr. CHANDRASIRI RENDAGE to be a Justice of the Peace for the Whole Island;
- 10. Mr. SAMARAWEERA MUDALIGE LALITH ASOKA DE ALWIS to be a Justice of the Peace for the Whole Island;
- 11. Miss ASANKI JAYASEKARA to be a Justice of the Peace for the Whole Island;
- 12. Mr. KORALE ACHCHILLAGE PREMARATNA to be a Justice of the Peace for the Whole Island;
- 13. Mr. A. NESATHURAI to be a Justice of the Peace for the Whole Island;
- 14. Mr. DEVA GAMINI SAMANTHA DE SILVA to be a Justice of the Peace for the Whole Island;
- 15. Mrs. WANNI ARACHCHIGE ACHILA WASANTHI to be a Justice of the Peace for the Whole Island;
- 16. Mrs. KAMALAWATHIE KAMALASINGHEM to be a Justice of the Peace for the Whole Island;
- 17. Mrs. ATHUKORALAGE BANDUMATHIE KUMARIHAMY to be a Justice of the Peace for the Whole Island;
- 18. Mrs. BASNAYAKA RALLAGE SAJEEWA SANDAMALI KUMARI HERATH to be a Justice of the Peace for the Whole Island;
- 19. Mr. KULATUNGA MUDALIGE RANJITH KULATUNGA to be a Justice of the Peace for the Whole Island;
- 20. Mrs. SURANGI NIROSHANIE GUNARATNE to be a Justice of the Peace for the Whole Island;
- 21. Mrs. JASENTHU LIYANAGE CHITHRA MALANI FERNANDOO to be a Justice of the Peace for the Whole Island;
- 22. Mr. RATHNASINGHE MUDIYANSELAGE SUGATHAPALA to be a Justice of the Peace for the Whole Island;
- 23. Mr. HERATH MUDYANSELAGE MUTHUBANDA HERATH to be a Justice of the Peace for the Whole Island;
- 24. Mr. DISSANAYAKA MUDIYANSELAGE SUMATHIPALA to be a Justice of the Peace for the Whole Island;

- 25. Mr. DISSANAYAKA MUDIYANSELAGE SUGATHASIRI to be a Justice of the Peace for the Whole Island;
- 26. Mr. DISSANAYAKA MUDIYANSELAGE JAYASINGHE to be a Justice of the Peace for the Whole Island;
- 27. Mr. ADIGODA GAMAGE HARISCHANDRA to be a Justice of the Peace for the Whole Island;
- 28. Mr. RANBANDA NISHSHANKA to be a Justice of the Peace for the Whole Island;
- 29. Mr. ATHTHANAYAKA MUDIYANSELAGE KARUNAPALA to be a Justice of the Peace for the Whole Island;
- 30. Mr. KIRIBANDA EKANAYAKA to be a Justice of the Peace for the Whole Island;
- 31. Mr. WIJESIRI LENARD SENANAYAKA to be a Justice of the Peace for the Whole Island;
- 32. Mr. MAHATELGE NICHOLAS ENTHANY NIHAL DAYAS to be a Justice of the Peace for the Whole Island;
- 33. Mr. RAMBUKWELLE WALAUWE SOMARATHNA to be a Justice of the Peace for the Whole Island;
- 34. Mr. SEMBUKUTTI ARACHCHIGE DON JORJ HARBANSIN SENARATHNA to be a Justice of the Peace for the Whole Island;
- 35. Mr. ELAPATHA LEKAMALAYA DHANAWARDHENA to be a Justice of the Peace for the Whole Island;
- 36. Mr. JAGODIGE DON PIYAL KULARATHNA to be a Justice of the Peace for the Whole Island;
- 37. Mr. RATHNAYAKA MUDIYANSELAGE JAYAWARDHANA to be a Justice of the Peace for the Whole Island;
- 38. Mr. WETHTHIGE MONIS SILVA to be a Justice of the Peace for the Whole Island;
- 39. Mrs. HEMA CHANDRALATHA MENIKE RATHNAYAKA to be a Justice of the Peace for the Whole Island;
- 40. Mr. SUDASINGHE DHANASENA to be a Justice of the Peace for the Whole Island;
- 41. Mr. RATHNAYAKA MUDIYANSELAGE SIRIWARDHANA to be a Justice of the Peace for the Whole Island;
- 42. Mr. MOHAMMADU CASIM MOHAMMADU RASHAIDEEN to be a Justice of the Peace for the Whole Island;
- 43. Mr. SIRIPALA SURIYA BANDARA to be a Justice of the Peace for the Whole Island;
- 44. Mr. KURUGAMA ARACHCHIGE WIJESENA to be a Justice of the Peace for the Whole Island;
- 45. Mr. AMARAKON MUDIYANSELAGE MAHINDADASA to be a Justice of the Peace for the Whole Island;
- 46. Mr. ATHULA VIDANAGE WEERARATHNA to be a Justice of the Peace for the Whole Island;
- 47. Mr. ANATHTHA PATHIRANAGE PIYASENA to be a Justice of the Peace for the Whole Island;
- Mr. DUNUMALA PATHIRANNEHELAGE SAMARASENA to be a Justice of the Peace for the Whole Island;
- 49. Mr. LOKUGE BATIN WEERASINGHE to be a Justice of the Peace for the Whole Island;
- 50. Mr. SIMANHEWAGE PIYADASA PUNYAWANSHA to be a Justice of the Peace for the Whole Island;
- 51. Mr. RANAWAKA ARACHCHILAGE SIRISENA PERERA to be a Justice of the Peace for the Whole Island;
- 52. Mr. Don LIONEL KALUTHANTHREE to be a Justice of the Peace for the Whole Island;

- 53. Mr. YAPA WIMALASENA to be a Justice of the Peace for the Whole Island;
- 54. Mr. HERATH MUDIYANSELAGE SOMASIRI to be a Justice of the Peace for the Whole Island;
- 55. Mr. RATHNAYAKA MUDIYANSELAGE GUNASEKARA to be a Justice of the Peace for the Whole Island;
- 56. Mrs. KAMALA JINADAREE GAMAGE to be a Justice of the Peace for the Whole Island;
- 57. Mr. VITHANA SARUKKALIGE JOTHIPALA to be a Justice of the Peace for the Whole Island;
- 58. Mr. DISANAYAKA MUDIYANSELAGE SENEVIRATHNA to be a Justice of the Peace for the Whole Island;
- 59. Mr. AMARAKOON MUDIYANSELAGE CHANDRASENA AMARAKOON to be a Justice of the Peace for the Whole Island;
- 60. Mr. HEENATIGALA DON THOMAS NANAYAKKARA to be a Justice of the Peace for the Whole Island;
- 61. Mr. LEKAMWASAM LIYANAGE CHINTHAKA MADURANGA to be a Justice of the Peace for the Whole Island;
- 62. Mr. BANDARA KARUNA ARACHCHI to be a Justice of the Peace for the Whole Island;
- 63. Mr. RATHNAYAKA MUDIYANSELAGE JAYASEKARA to be a Justice of the Peace for the Whole Island;
- 64. Mr. SENEVIRATHNA MUDIYANSELAGE KAPILA PRIYANTHA KUMARA SENEVIRATHNA to be a Justice of the Peace for the Whole Island;
- 65. Mr. Abdeen Shahul Hameed to be a Justice of the Peace for the Whole Island;
- 66. Mr. MAPALAGAMA ACHARIGE RANJITH to be a Justice of the Peace for the Whole Island;
- 67. Mrs. WIKRAMASURIYA ARACHCHIGE INDRANI to be a Justice of the Peace for the Whole Island;
- 68. Mr. VADIWEL SUBRAMANIUM THULSIRAJA to be a Justice of the Peace for the Whole Island;
- 69. Mrs. TALARAMBE BULATHGE PERCY ARIYALATHA DE SILVA to be a Justice of the Peace for the Whole Island;
- 70. Mr. ABEYKOON BANDARA DUNUSINGHE to be a Justice of the Peace for the Whole Island;
- 71. Mrs. PUNYA MANAMENDRA to be a Justice of the Peace for the Whole Island;
- 72. Mr. SYDNEY PARAKRAMA PANDITHA ABEKOON to be a Justice of the Peace for the Whole Island;
- 73. Mr. RATHNAYAKA MUDIYANSELAGE ARIYAPALA to be a Justice of the Peace for the Whole Island;
- 74. Mr. WEERASINGHE MUDIYANSELAGE JOSEPH to be a Justice of the Peace for the Whole Island;
- 75. Mr. AMBAGAHAWATTE DINGIRIBANDA WEERASINGHE to be a Justice of the Peace for the Whole Island;
- 76. Mr. RAJAPAKSHA MUDIYANSELAGE PREMADASA BODINAYAKA to be a Justice of the Peace for the Whole Island;
- 77. Mr. GUNARATHNA BANDA ATHTHANAYAKA to be a Justice of the Peace for the Whole Island;
- 78. Mr. DHARMASIRI WEERATHUNGA to be a Justice of the Peace for the Whole Island;
- 79. Mrs. RATHNASINGHE MUDIYANSELAGE SUWATHI to be a Justice of the Peace for the Whole Island;
- 80. Mr. WEERASINGHE MUDIYANSELAGE PREMARATHNA to be a Justice of the Peace for the Whole Island;
- 81. Mr. RAJAPAKSHA MUDIYANSELAGE PUNCHIBANDA to be a Justice of the Peace for the Whole Island;

- 82. Mr. RATHNAYAKA MUDIYANSELAGE SUMANASEKARA to be a Justice of the Peace for the Whole Island;
- 83. Mr. MANATHUNGA MUDIYANSELAGE MUTHUBANDA to be a Justice of the Peace for the Whole Island;
- 84. Mr. WIJETHUNGA MUDIYANSELAGE DINGIRI BANDA to be a Justice of the Peace for the Whole Island;
- 85. Mr. Abdul Cader Abdul Satthar to be a Justice of the Peace for the Whole Island;
- Mr. ABDUL MAJEED MOHAMED RIFAI to be a Justice of the Peace for the Whole Island;
- 87. Mr. RAJAPAKSHA RANAWEERA ABEYKOON WASALA MUDIYANSELAGE KARUNARATHNA BANDA PITAWELA to be a Justice of the Peace for the Whole Island;
- 88. Mr. PATABENDI MUDIYANSELAGE ABAYARATHNA to be a Justice of the Peace for the Whole Island;
- 89. Mrs. PEELLALALAGE GNANAWATHIE to be a Justice of the Peace for the Whole Island;
- 90. Mr. KIRINGODAGE DINESH SURANDA to be a Justice of the Peace for the Whole Island;
- 91. Mr. MARASINGHE ARACHCHIGE PRIYANTHA MARASINGHE to be a Justice of the Peace for the Whole Island;
- 92. Mr. LIYANA PALLIYAGE SARATH KUMARASIRI to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 93. Mr. PAKEER LEBBE SULAIMAN LEBBE to be a Justice of the Peace for the Whole Island;
- 94. Mrs. BODIYA BADUGE IMALKA ANURADHI PERERA to be a Justice of the Peace for the Whole Island;
- 95. Mr. DHANAPALA MUDIYANSELAGE SUNANDA PRADEEP KUMARA DISSANAYAKE to be a Justice of the Peace for the Whole Island;
- 96. Mr. URAPOLA MUDALIGE JAYASIRI WASANTHA KUMARA AMARASINGHE to be a Justice of the Peace for the Whole Island;
- 97. Miss ATHAPATHTHU MUDIYANSELAGE NIRASHA SANDAMALI to be a Justice of the Peace for the Whole Island;
- 98. Mr. GINIGALGODA ARACHCHIGE PRIYAWANSHA DESHAPRIYA to be a Justice of the Peace for the Whole Island;
- 99. Mr. MANATHUNGA DEWAGE NIMALADASA to be a Justice of the Peace for the Whole Island;
- 100. Mr. PERIYASAMI AITHAN to be a Justice of the Peace for the Whole Island;
- 101. Mrs. APPUHAMIGE PREMAWATHIE GUNAWARDHANA to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 102. Mr. SELLAGE SUNIL PEMASINGHE to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 103. Mr. KIRIBANDAGE CHANDANA KUMARA WANNINAYAKE to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 104. Mr. CHANDRASEKARA MUDIYANSELAGE HERATHBANDAGE GUNATHILAKA to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 105. Mr. JAYANTHA AJITH AMBILLAWATHTHA to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 106. Mr. LALITH THALDUWA GAMAGE to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 107. Mr. PINNAKANDA ARACHCHILAGE JAYARATHNA to be a Justice of the Peace for the Judicial Zone of Embilipitya;
- 108. Mr. GUNASEKARA DISSANAYAKA PODIAPPUHAMI to be a Justice of the Peace for the Judicial Zone of Embilipitya;

- 109. Mr. BASNAYAKA MUDIYANSELAGE UKKU BANDA to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- Mr. ABEYWARDANA ARACHCHIGE RANJITH ABEYWARDANA to be a Justice of the Peace for the Judicial Zone of Embilipitya;
- 111. Mr. WEERATHUNGA ARACHCHIGE GUNATHILAKA to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- 112. Mr. THITHTHALAPITIGE MAHESH INDIKA GUNATHILAKA to be a Justice of the Peace for the Whole Island;
- Mrs. AMARAKOON ARACHCHIGE ISANKA SANDAMALI to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- 114. Mrs. KALUWAHEWAGE DINUSHA HEMAMALI to be a Justice of the Peace for the Judicial Zone of Embilipitya;
- Mr. WEERAKKODI ARACHCHI GAMAGE UPUL MADUSANKA to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- 116. Mrs. EDIRIBANDANAGE INDIKA SANDAMALI to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- Mr. GAWARATHENNAGE NISSANKA HARIPRIYA GAWARATHENNE to be a Justice of the Peace for the Judicial Zone of Negombo;
- 118. Mr. KABULUGALAGE WJAYADASA to be a Justice of the Peace for the Judicial Zone of Rathnapura;
- 119. Mrs. HAGGALLAGE SUSILA BEATRICE KAMALAWATHIE to be a Justice of the Peace for the Judicial Zone of Rathnapura;
- 120. Mrs. MAL NETHTHIGE KANTHI SENEHELATHA to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- 121. Mr. NAVARATNAM NADARAJAH to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 122. Mrs. RANASINGHE ARACHCHIGE NIMANTHI to be a Justice of the Peace for the Judicial Zone of Colombo;
- 123. Mrs. KUNANKARA GEDERA SIRANJANI KUMARI to be a Justice of the Peace for the Judicial Zone of Colombo;
- 124. Mr. EDMOND ABEYSIRI SAMARASEKARA to be a Justice of the Peace for the Judicial Zone of Galle;
- 125. Mr. JAGODAGE ALBERT to be a Justice of the Peace for the Judicial Zone of Galle;
- 126. Mr. GODAGAMA RALLAGE SUJEEWA KITHSIRI GUNATHILAKE to be a Justice of the Peace for the Judicial Zone of Kegalle;
- 127. Mr. VIYANNALAGE CHUMINDA PRIYAWANSHA to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- 128. Mr. ABDUL MAJEED MOHAMED SAMEEL to be a Justice of the Peace for the Judicial Zone of Colombo;
- 129. Mr. MALAWEERA ARACHCHIGE UDENI CHANDRASIRI to be a Justice of the Peace for the Whole Island;
- Mr. LOKU THAMBUGALAGE RATHNAWEERA LIYANAGE to be a Justice of the Peace for the Judicial Zone of Embilipitiya;
- 131. Mr. WIMALET MAHANAYAKE to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 132. Mr. HEWATHANTRILAGE RATHNASIRI PRIYANTHA to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 133. Mr. SHARIFFDEEN MOHAMED ABDUL MAJEED to be a Justice of the Peace for the Judicial Zone of Nuwara Eliya;
- 134. Mr. DANDENIYE AMARASINGHE KANKANAMGE WIMALADASA GUNAWARDHANA to be a Justice of the Peace for the Judicial Zone of Matara;
- Mr. WEESINGHE MUDIYANSELAGE MANJULA WASANTHA KUMARA to be a Justice of the Peace for the Judicial Zone of Kurunagala;

- 136. Mrs. HETTIHEWAGE DONIKA KAMANI ASOKA DE SILVA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 137. Mr. SUSANTHA SANJEEWA KURULUWANSHA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 138. Mr. DON RANJITH SRI LAL KODIKARA to be a Justice of the Peace for the Whole Island;
- 139. Mr. SALAHUDEEN AHAMED IFHAM to be a Justice of the Peace for the Whole Island;
- Mr. NARANGODA ARACHCHILAGE UDITHA CHAMIKA NARANGODA ARACHCHI to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 141. Mr. KUDA SINGAPPULIGE NIMALSIRI GUNAWARDENA to be a Justice of the Peace for the Judicial Zone of Panadura;
- 142. Mr. GAMARALALAGE ARIYA CHANDRA JAYADEVA to be a Justice of the Peace for the Whole Island;
- 143. Mrs. MOHAMED ABDUL CAFFOOR HAXIBA to be a Justice of the Peace for the Whole Island;
- 144. Mr. WEERAKOON MUDIYANSELAGE MANOSIRI to be a Justice of the Peace for the Judicial Zone of Colombo;
- 145. Mr. MAHADURA NIMAL DE SILVA to be a Justice of the Peace for the Judicial Zone of Panadura;
- 146. Rev. WELIHENE SOBHITHA Thero to be a Justice of the Peace for the Whole Island;
- 147. Mr. MUHAMMAD SADIK MUHAMMAD MILHAN to be a Justice of the Peace for the Whole Island;
- 148. Mr. ANSLEM GERAD GOMESZ to be a Justice of the Peace for the Whole Island;
- 149. Mr. VIVEKANANDHA NAVARATHNARAJAH to be a Justice of the Peace for the Judicial Zone of Badulla;
- 150. Mrs. MERCEDES DILANI MANUEL to be a Justice of the Peace for the Judicial Zone of Badulla;
- 151. Mr. MOHAMED ANIFA MIHLAR to be a Justice of the Peace for the Judicial Zone of Trincomalee;
- 152. Mr. KATHIRGAMARAJAH UMATHARAN to be a Justice of the Peace for the Whole Island;
- 153. Mr. THILLAIAMBALAVANAR GOPALA KRISHNAN to be a Justice of the Peace for the Whole Island;
- 154. Mr. DEWAGAMAGE ALBERT to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 155. Mr. AHAMED ISMAIL MOHAMED KALEEL to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 156. Mr. CHANNA DANUSHKA IKIRIWATTE to be a Justice of the Peace for the Judicial Zone of Kandy;
- 157. Mr. SUBRAMANIAM RAVINDRAN to be a Justice of the Peace for the Whole Island;
- 158. Mr. THAMBIPPILLAI THIYAGARAJAH to be a Justice of the Peace for the Whole Island;
- 159. Mr. ABDUL HAMEED MARRIKKAR MOHAMMED MUNAWWAR to be a Justice of the Peace for the Judicial Zone of Puttlam;
- 160. Mr. SINNATHAMBY MANOHARAN to be a Justice of the Peace for the Whole Island;
- 161. Mrs. DISSANAYAKE MUDIYANSELAGE CHAMPA PRIYANTHI WEERASEKARA to be a Justice of the Peace for the Judicial Zone of Kurunagala;
- 162. Mr. RANATHUNGE MUDALIGE KASUN ASANKA RANATHUNGE to be a Justice of the Peace for the Judicial Zone of Kurunagala;
- 163. Mr. PALLEK KANKANAMGE DHAMMIKA PRIYANTHA to be a Justice of the Peace for the Whole Island;

- 164. Mr. AJITH WICKRAMASEKARA to be a Justice of the Peace for the Whole Island;
- 165. Mr. WEDASINGHE ARACHCHIGE RANJITH to be a Justice of the Peace for the Whole Island;
- 166. Mrs. THANUJA DAMAYANTHI HELAUDAGE to be a Justice of the Peace for the Whole Island;
- 167. Mr. MUNASINGHA ARACHCHIGE SARATH RANJITH to be a Justice of the Peace for the Whole Island;
- 168. Mrs. DISSANAYAKE MUDIYANSELAGE NALINI KUMARI DISSANAYAKE to be a Justice of the Peace for the Whole Island;
- 169. Mrs. Adikari Appuhamilage Priyani Sriyakanthi Lukshmi to be a Justice of the Peace for the Whole Island;
- 170. Mr. WELEGE DHAMMIKA DAYANATH to be a Justice of the Peace for the Judicial Zone of Kandy;
- 171. Mr. PARANA MANANNALAGE JAYANTHA SISIRA KUMARA to be a Justice of the Peace for the Whole Island;
- 172. Mr. ABEYKOON MUDIYANSELAGE DIMUTH SAMANTHA KUMARA ABEYKOON to be a Justice of the Peace for the Whole Island;
- 173. Mr. RANATUNGA MUDALIGE HANSA ERANDA RANATUNGA to be a Justice of the Peace for the Judicial Zone of Kurunegala;
- 174. Mr. ISMA LEBBE MOHAMED IRFAN to be a Justice of the Peace for the Whole Island;
- 175. Mr. ILUKPITIYA WATTAGE DESHAPRIYA AMARABANDU JAYASINGHE to be a Justice of the Peace for the Whole Island;
- 176. Mr. M.S.M. NOORDEEN to be a Justice of the Peace for the Whole Island;
- 177. Mr. KRISHNAN RAVINDRADAS to be a Justice of the Peace for the Whole Island;
- 178. Mr. MICHAELPILLAI DOMINIC VICTOR to be a Justice of the Peace for the Whole Island;
- 179. Mr. KAPURUKOTUWAGE AMILA CHAMPAKA JAYAWARDANA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 180. Mr. NAGASENA MUDIYANSELAGE DON VIRAJ to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 181. Mrs. TIKIRI HENNADIGE GAYANI DE SILVA to be a Justice of the Peace for the Whole Island;
- 182. Mr. EDIRISINGHE APPUHAMILLAGE DHARMACHANDRA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 183. Mr. MILTON KURUPPU to be a Justice of the Peace for the Judicial Zone of Colombo;
- 184. Mr. MICHAELPILLAI JESU REGINOLD to be a Justice of the Peace for the Whole Island;
- 185. Mr. KANDASAMI THAWARASA to be a Justice of the Peace for the Whole Island;
- 186. Mr. JAYASINGHE ARACHCHILLAGE SUMITH ANANDA to be a Justice of the Peace for the Whole Island;
- 187. Mr. SAMITHA SILVA KANNANGARAGE to be a Justice of the Peace for the Judicial Zone of Colombo;
- 188. Mr. KOTTE SAMARASINHAGE KARUNARATHNA to be a Justice of the Peace for the Whole Island;
- 189. Mr. RAJU SELVARAJ PRABU to be a Justice of the Peace for the Whole Island;
- 190. Mr. SUMEDHA AMARASINGHE to be a Justice of the Peace for the Whole Island;
- 191. Mr. MUHAMMADU IBRAHIM RAHUMATHTHULLAH to be a Justice of the Peace for the Whole Island;

- 192. Mr. KATUPOLLANDE GEDARA NIHAL KUMARA RATHNAYAKA to be a Justice of the Peace for the Whole Island;
- 193. Mr. YEHIYA AL ANAS ARIFIN to be a Justice of the Peace for the Judicial Zone of Colombo;
- 194. Mr. NIRANTHA PRIYANKARA PERERA SANDANAYAKA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 195. Mr. HERATH MUDIYANSELAGE RANASINGHE to be a Justice of the Peace for the Judicial Zone of Colombo;
- 196. Mr. RAVINDRA ATHULA HEWAPATHIRANA to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 197. Mrs. HETTIARACHCHI KANKANAMALAGE MADUNI CHAMPIKA to be a Justice of the Peace for the Judicial Zone of Colombo;
- 198. Mr. MEERA KANDU MOHANDIRAMALE GEDARA PAKEER MOHIDEEN MUHAMMED PRAVIS to be a Justice of the Peace for the Whole Island;
- 199. Mr. GALHEN KANDAGE DON THUSITHA NAYANA KUMARA to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 200. Mrs. AMITHA CHANDANI DOLAWATTA to be a Justice of the Peace for the Judicial Zone of Nuwara Eliya;
- 201. Mr. NIMALSIRI ABEYWICKRAMA to be a Justice of the Peace for the Whole Island;
- 202. Mr. HABEEB MOHAMED MANAAB to be a Justice of the Peace for the Whole Island;
- 203. Mr. SANTHIYOGU MICHELTHASAN to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 204. Mr. SARAVANAMUTHU KANAGARASAN to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 205. Mrs. SULAIMA LEBBE FAHIMA to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 206. Mr. GODA KANKANAMALAGE DON ARIYANANDA to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 207. Mr. THURAISAMY THAVANESWARAN to be a Justice of the Peace for the Whole Island;
- 208. Mrs. RANASINGHE ARACHCHIGE RANJANI RANASINGHE to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 209. Mr. RAJAPAKSHA PATHIRANALAGE SOORIYAKUMARA to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 210. Mr. SEYED AMANULLAH DILSHARD MOWLANA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 211. Mrs. EKANAYAKA MUDIYANSELAGE KANTHILATHA to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 212. Mr. HALMALU KARAGE SIRIPALA to be a Justice of the Peace for the Judicial Zone of Colombo;
- 213. Mrs. SUDDA NAMAGE MENAKA NISHANTHI to be a Justice of the Peace for the Judicial Zone of Colombo;
- 214. Mr. AHAMED LEBBAI SEIYAD MANSOOR to be a Justice of the Peace for the Judicial Zone of Mannar;
- 215. Mr. SINNIAH SIVAPATHASUNDARAM to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 216. Mrs. RAJAPAKSHA MOHOTTIGE ALIAS KANKANIGE KUSUMLATHA YAHAMPATH to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 217. Mrs. LALITHA RANJANI SWARNA JAYAWARDANE to be a Justice of the Peace for the Whole Island;
- 218. Mr. MOHAMMED UMER MOHAMMED SUHOODI to be a Justice of the Peace for the Whole Island;
- 219. Mrs. KALU ARACHCHIGE SHYAMALI JAYALATH KALUARACHCHI to be a Justice of the Peace for the Judicial Zone of Kurunagala;

- 220. Mrs. KANKANAM PATHIRANAGE ACHIRA UTHPALI to be a Justice of the Peace for the Judicial Zone of Colombo;
- Mr. MUHAMMADU RATNAM MUHAMMADU RIFAYUDEEN to be a Justice of the Peace for the Judicial Zone of Mannar;
- 222. Mr. PANCHARATNAM MAYURAN to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 223. Mr. DAWATAGE ATHULA SIRIMEWAN POTHUPITIYA to be a Justice of the Peace for the Whole Island;
- 224. Mr. MOHAMED ABOOBUCKER NAFEES to be a Justice of the Peace for the Whole Island;
- 225. Mrs. WAGURE GAMARALALAGE YAMUNA PRIYADHARSHANI DAYARATHNA to be a Justice of the Peace for the Judicial Zone of Kandy;
- Mr. WARNAKULASURIYA SURESH NISHANTHA FERNANDO to be a Justice of the Peace for the Judicial Zone of Chilaw;
- 227. Mrs. PATHTHINIKUTTIGE MARIAN RAJITHA NILUKA PEIRIS to be a Justice of the Peace for the Judicial Zone of Puttlam;
- 228. Mr. MOHAMED MANSOOR ABDUL CADER to be a Justice of the Peace for the Judicial Zone of Panadura;
- 229. Mr. KRISHNAPILLAI SIVAPALAN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 230. Mr. ANTONY KRISHANTHAN TISSAVERASINGHE to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 231. Mr. WELLA KUTTIGE PEERU MUHAMMADU to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 232. Mr. RAJENDRAM VELSIVAM to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 233. Mr. SABARETNAM ARIYANANTHAM to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 234. Mr. VELLAKKUTTI ABDULRAHUMAN to be a Justice of the Peace for the Judicial Zone of Anuradhapura;
- 235. Mr. PILLAIYAANTHAMBY THANIGAASALAM to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 236. Mr. JAYAKODI KANKANAMALAGE LUBERT KULATILAKA JAYAKODI to be a Justice of the Peace for the Whole Island;
- 237. Mr. MOHAMED IBRAHIM MOHAMED MAHEEM to be a Justice of the Peace for the Whole Island;
- 238. Mr. ARUMUGAM THEAGALINGAM to be a Justice of the Peace for the Whole Island;
- 239. Mr. RATNASINGAM KENGATHARAN to be a Justice of the Peace for the Judicial Zone of Nuwara Eliya;
- 240. Mr. KATHIRAVELU GOWRIKANTHAN to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 241. Mr. VALLIPURAM ANAVARATHAN to be a Justice of the Peace for the Whole Island;
- 242. Mr. UTHUMA LEBBE MOHAMED HASSANAR to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 243. Mr. ANTHONYPILLAI REGINOLDRAJ to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 244. Mr. SUBRAMANIAM AINGHARAN to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 245. Mr. WEERASEKARA SENEVIRATHNA MUDIYANSELAGE NILANTHA BANDARA WEERASEKARA to be a Justice of the Peace for the Judicial Zone of Kegalle;
- Mr. KHAIRUNNISA HAJI MOHAMED ALI MARIKKAR to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 247. Mr. SOMALINGAM PARAMANATHAN to be a Justice of the Peace for the Judicial Zone of Jaffna;

- 248. Mr. KAHATAGAHA KOTUWE GEDARA SAMPATH ANURA BANDARA to be a Justice of the Peace for the Judicial Zone of Polonnaruwa;
- 249. Mrs. UDAGEDARA INDRA KULATUNGA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 250. Mr. MENDIS WARALLE LIYANAGE to be a Justice of the Peace for the Whole Island;
- 251. Mr. NADA KANDAGE GUNADASA ABEYWICKRAMA to be a Justice of the Peace for the Judicial Zone of Matara;
- 252. Mr. SEPALA SAMARARATHNA KODIKARA to be a Justice of the Peace for the Judicial Zone of Matara;
- 253. Mrs. Liyana Arachchi Mudiyanselage Rathna Nandani Abeyrathna to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 254. Mr. MOHAMMADU HUSAIN ABDUL SATHAR to be a Justice of the Peace for the Judicial Zone of Badulla;
- 255. Mr. UPUL SEPALA DAHANAYAKE to be a Justice of the Peace for the Judicial Zone of Matara;
- 256. Mr. NOOR MOHAMADU MUHAMADU MARSOON to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 257. Mr. GARUMUNI REGINOLD HEMACHANDRA DE ZOYSA to be a Justice of the Peace for the Judicial Zone of Colombo;
- Mr. HETTIARACHCHIGE CHARITH ROSHAN DE SILVA to be a Justice of the Peace for the Judicial Zone of Colombo;
- 259. Mrs. PADMA JAYATUNGE ARACHCHIGE PADMA VIDANAGAMACHCHI to be a Justice of the Peace for the Judicial Zone of Colombo;
- 260. Mr. PITIGALAGE TUDOR PITIGALA to be a Justice of the Peace for the Whole Island;
- 261. Mr. ATHAMKANDU NALEEM to be a Justice of the Peace for the Whole Island;
- Mrs. BOPITIYAGAMAGE NILMINI KRISHANTHI PERERA to be a Justice of the Peace for the Judicial Zone of Colombo;
- 263. Mr. ARUMAHANDI JAGATH PREMALAL DE SILVA to be a Justice of the Peace for the Judicial Zone of Balapitiya
- Mr. SARATH CHANDRA SUDIRIKKU JAYAWICKRAMA to be a Justice of the Peace for the Judicial Zone of Colombo;
- Mr. KOSHENA GAMAGE HARINDRA GNANASAGARA to be a Justice of the Peace for the Judicial Zone of Colombo;
- Mrs. Abdul Muthalif Raneesa to be a Justice of the Peace for the Judicial Zone of Ampara;
- 267. Mr. SITTAMPALAM SELVARATNAM to be a Justice of the Peace for the Judicial Zone of Jaffna;
- 268. Mr. ISMA LEBBE JASMIR to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- Mr. JAYASINGHA ARACHCHILLAGE PIYARATHNA JAYASINGHA to be a Justice of the Peace for the Judicial Zone of Kegalle;
- 270. Rev. NELUWAKKANA DHAMMINDA Thero to be a Justice of the Peace for the Whole Island;
- 271. Mr. HEWAGAMAGE HEMASIRI KULATHUNGA to be a Justice of the Peace for the Judicial Zone of Colombo;
- 272. Mr. KALUACHCHILLAGE GAMINI to be a Justice of the Peace for the Judicial Zone of Kegalle;
- 273. Mr. DISSANAYAKE MUDIYANSELAGE KUDABANDARA to be a Justice of the Peace for the Judicial Zone of Kegalle;
- 274. Mr. THUWAN RAHEEM THUWAN IMRAN to be a Justice of the Peace for the Judicial Zone of Badulla;
- 275. Rev. OMALPE SIRISUDASSI There to be a Justice of the Peace for the Whole Island;

- 276. Mr. NAWARATHNA MUDIYANSELAGE LIONEL SENEVIRATHNA to be a Justice of the Peace for the Whole Island;
- 277. Mr. VARUNAKULASINGAM VIJIYANANTHAM to be a Justice of the Peace for the Judicial Zone of Trincomalee;
- 278. Mr. PARAMESHWARAN KAMALRAJ to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 279. Mr. UTHUMA LEBBE MOHAMED HAREES to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 280. Mr. PERUMAL SUBACHANDRAN to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 281. Mr. FRANCIS JESURASA to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 282. Mr. SUNTHARALINGAM THAYANANTHARAJ to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 283. Mr. JEEVARETHNAM ARULENDIRAN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- Mrs. AZMIYA HUSNA MOHAMED SALEEM to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 285. Rev. KANANKE JANANANDA Thero to be a Justice of the Peace for the Whole Island;
- 286. Mr. PHILIPAIYA JENEBERT to be a Justice of the Peace for the Judicial Zone of Jaffna;
- Mr. HERATH MUDIYANSELAGE PALAMAKUMBURE WIJERATNE BANDA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 288. Mr. ASANKA NANAYAKKARA to be a Justice of the Peace for the Judicial Zone of Ampara;
- 289. Rev. METIKOTUMULLE PEMARATHANA Thero to be a Justice of the Peace for the Whole Island;
- 290. Mr. MOHAMED MASHOOR MOHAMED AZAM to be a Justice of the Peace for the Whole Island;
- 291. Mr. RATHWATTA WALPOLAGE CHAMINDA SISIRA KUMARA WALPOLA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 292. Mrs. RANAWAKA ARACHCHIGE DULIKA NISHANTHI PERERA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 293. Mrs. Athalage Dona Geethangani Priyantha Gunasekara to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 294. Mr. MOHAMED SHIHAN AZEEZ to be a Justice of the Peace for the Whole Island;
- 295. Mr. HETTI HEWAGE ARIYADASA to be a Justice of the Peace for the Whole Island;
- 296. Mr. VEERESAPILLAI KAMALARASA ARULNESAN to be a Justice of the Peace for the Judicial Zone of Trincomalee;
- 297. Mr. JAYASURIYA ARACHCHIGE SUNIL to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 298. Mr. SAVUL HAMEED THOWFEEK to be a Justice of the Peace for the Whole Island;
- 299. Rev. KATUDORA SUMANA Thero to be a Justice of the Peace for the Whole Island;
- Mr. SAMARASINGHE VIDANELAGE WASANTHA MADURANGA to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 301. Mrs. ARUNTHATHIE RAJAH SATHYENDRA to be a Justice of the Peace for the Whole Island;
- 302. Mr. ALWARSAMY SRI RAJA KUMARESHA to be a Justice of the Peace for the Whole Island;
- 303. Mr. WEERASEKARA MUDIYANSELAGE ASHOKA KUMARA KARUNARATNE to be a Justice of the Peace for the Whole Island;

- 304. Mr. SELLADORE RAVINDRA KUMAR to be a Justice of the Peace for the Judicial Zone of Badulla;
- 305. Mr. SELEMAN LEBBE MOHAMMADHU NIDHAM to be a Justice of the Peace for the Whole Island;
- 306. Mr. PAKKEER MOHIDEEN MOHAMED SHAHEED to be a Justice of the Peace for the Whole Island;
- 307. Mr. VELUPILLAI THIRUGNANASAMPANTHAR to be a Justice of the Peace for the Whole Island;
- 308. Mr. RAJESWARA IYER SATHYANANTHAM to be a Justice of the Peace for the Whole Island;
- 309. Mr. MUNIYAN KRISHNARAJA to be a Justice of the Peace for the Judicial Zone of Badulla;
- Mr. THANGAVEL THAMILCHELVAN to be a Justice of the Peace for the Judicial Zone of Badulla;
- 311. Mr. PARAMASIVAM SURESHKUMAR to be a Justice of the Peace for the Judicial Zone of Badulla;
- 312. Mr. HIDELLAGE YASALAL PERERA to be a Justice of the Peace for the Whole Island;
- 313. Mr. SHAMMI GAYAN MEEGAMMANA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 314. Mr. SENARATNE KALUARACHCHIGE AJITH RANJAN to be a Justice of the Peace for the Judicial Zone of Colombo;
- Mr. ARUNA KUMARA DHARMA SRI SAMARANAYAKA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 316. Mr. NIROSHANA KUMARA GANGASIRI RAJAPAKSE to be a Justice of the Peace for the Whole Island;
- 317. Mrs. SENARATH MOHOTTALALAGE KALYANAWATHI KUMARIHAMI to be a Justice of the Peace for the Whole Island;
- 318. Mr. M.M. ABDUL JABAR to be a Justice of the Peace for the Whole Island;
- 319. Mr. HIDDAGE MUDIYANSELAGE RAMBANDARA SENARATHNE to be a Justice of the Peace for the Whole Island;
- 320. Mr. SHARIFDEEN MOHAMED NAWAS to be a Justice of the Peace for the Whole Island;
- 321. Mr. THENNAKOON MUDIYANSELAGE SHANTHA WIJAYAKEERTHI to be a Justice of the Peace for the Whole Island;
- 322. Mr. MEERA MOHIDEEN ANWER SATHATH to be a Justice of the Peace for the Whole Island;
- 323. Mr. RAJAPAKSHE WASALA MUDIYANSELAGE CHANDRARATNA BANDARA KUMBUREGEDARA to be a Justice of the Peace for the Whole Island;
- 324. Mr. ABDUL LATHEEF MOHAMED ASWER to be a Justice of the Peace for the Whole Island;
- 325. Mrs. SHERIN SHAKILA THAMBIMUTHU to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 326. Mr. RUTHIRAMALAR GNANAPASKARAN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 327. Mr. KANESHAMOORTHY SASIKUMAR to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 328. Mr. ANANTHAMOORTHY MURALITHARAN to be a Justice of the Peace for the Whole Island;
- 329. Miss RASIAH NALINI to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 330. Mrs. JUDEVASEEKARAN DILOGINI to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- Mr. SIVASUNTHARAM SIVAKUMAR to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 332. Mr. SATHASIVAM SIVAKUMAR to be a Justice of the Peace for the Judicial Zone of Vavuniya;

- 333. Mr. BADURDEEN YASEER ARABATH to be a Justice of the Peace for the Whole Island;
- 334. Mr. CHELLAIAH MEGANATHAN to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 335. Mr. VIJAYARETNAM KURUHARAN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 336. Mr. PACKIYARASA MAYURAN to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- Mr. SIVARASA KAJENTHIRAN to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 338. Mr. PERAMPALAM SRI SKANDARAJAH to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- Mr. JEYARAJ SAJITHKUMAR to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 340. Mr. KONARA MUDIYANSELAGE GAMA GEDARA WASANTHA KUMARA ABEYRATHNE to be a Justice of the Peace for the Judicial Zone of Kandy;
- 341. Mr. RANHOTI GEDARA UPALI to be a Justice of the Peace for the Judicial Zone of Panadura;
- 342. Mr. KANDE MANANNALAGE ANURA KUMARA ABAYAWANSA to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 343. Mrs. RANWALAGE DONA SAMANTHIKA RANWALA to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 344. Mrs. MADDUMAGE SANDYA NIROSHANI KUMARI to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 345. Mr. LEULE HEENAGAMA GEDARA AMARASINGHE to be a Justice of the Peace for the Judicial Zone of Kandy;
- 346. Mr. WEERAKOON ACHCHIGE HARISCHANDRA to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 347. Mr. NAGENDRAM SASEENDRAN to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 348. Rev. PERAWELLE NANDA Thero to be a Justice of the Peace for the Whole Island;
- 349. Mr. CHAMINDA JAYALAL UDUHAWARA to be a Justice of the Peace for the Judicial Zone of Badulla;
- Mr. HIMIHAMI MUDIYANSELAGE ANANDA TISSA BANDA HERATH to be a Justice of the Peace for the Judicial Zone of Kurunagala;
- 351. Mr. KUDA ANTHONIGE SENEVIRATHNA to be a Justice of the Peace for the Judicial Zone of Awissawella;
- 352. Mr. THENAHANDI SHANAKA SUNIMAL DE SILVA to be a Justice of the Peace for the Judicial Zone of Negombo;
- Mr. KARIYAKARAWANAGE MARCUS KARIYAKARAWANA to be a Justice of the Peace for the Judicial Zone of Negombo;
- Mr. KOSTA PATABENDIGE NIMAL CHRISHANTHA DALPATHADU to be a Justice of the Peace for the Judicial Zone of Negombo;
- 355. Mr. LIYANAMANAGE SIRIPALA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 356. Mr. MOHAMED SABOOR MOHAMED RAMEESH to be a Justice of the Peace for the Judicial Zone of Gampaha;
- 357. Mrs. CHANTHIRAKUMAR SAKUNTHALADEVI to be a Justice of the Peace for the Judicial Zone of Vavuniya;
- 358. Mr. KOKMADUWA MUDALIGE SARATH to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 359. Mr. AHAMED FAIZ DAWOOD to be a Justice of the Peace for the Judicial Zone of Colombo;

- 360. Mrs. EHELA KUMBURA MANNALAGE ANOMA KANTHI KUMARATUNGA to be a Justice of the Peace for the Judicial Zone of Rathnapura;
- Mrs. PESTHERUWE LIYANARALALAGE MERIAN OLUNIE COORAY to be a Justice of the Peace for the Judicial Zone of Panadura;
- 362. Mrs. SANTHANE PATHIRANNEHELAGE DONA HEMAMALA KULASENA PATHIRANA to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 363. Mr. HALNETHTHI MAHINDA SRI LALSILVA to be a Justice of the Peace for the Judicial Zone of Kalutara;
- Mr. EKANAYAKE MUDIYANSELAGE TISSA KUMARA EKANAYAKE to be a Justice of the Peace for the Judicial Zone of Kandy;
- 365. Mr. KULATUNGA MUDIYANSELAGE RANJITH KULATUNGA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 366. Mr. MOHAMED IBRAHIM ABDUL MUTHALIF to be a Justice of the Peace for the Whole Island;
- 367. Mr. DALUGODA LIYANAGE DILAN KRISHANTHA to be a Justice of the Peace for the Judicial Zone of Matara;
- 368. Mr. NAVARETNAM KONESWARAN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- Mr. PERINPARAJAH SABESH to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- Mr. EHAMPARAM THAYENDRAN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- Mr. DISSANAYAKA MUDIYANSELAGE UBAYATILAKA DISSANAYAKA to be a Justice of the Peace for the Judicial Zone of Monaragala;
- 372. Mr. PONNIAH MAHENDRANATHAN to be a Justice of the Peace for the Judicial Zone of Trincomalee;
- 373. Mrs. SUWANDA ACHCHIGE KRISHANTHE JAYASINGHE to be a Justice of the Peace for the Judicial Zone of Kalutara;
- 374. Mr. WARNAKULASURIYA IGNACIUS ANTON FERNANDO to be a Justice of the Peace for the Whole Island;
- 375. Mr. RATHNAYAKA MUDIYANSELAGE THARAKA NUWAN KUMARA RATHNAYAKA to be a Justice of the Peace for the Judicial Zone of Kandy;
- Mr. UTHUMA LEBBE ISSADEEN to be a Justice of the Peace for the Judicial Zone of Baticaloa;
- 377. Mr. ATHAMBAWA SUBAITHEEN to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 378. Mrs. MOHIDEEN BAWA SITHY MUNEERA to be a Justice of the Peace for the Judicial Zone of Kalmunai;
- 379. Mr. ATHAMBAWA MOHAMMED ZAHEER to be a Justice of the Peace for the Whole Island;
- 380. Mr. HERATH MUDIYANSELAGE SUDATH BANDARA to be a Justice of the Peace for the Judicial Zone of Gampaha;
- Mr. NANDA JAYARATNA to be a Justice of the Peace for the Judicial Zone of Kandy;
- 382. Mr. SANDANAM VIJAYAN to be a Justice of the Peace for the Whole Island;

As the Justice of Peace.

RAUFF HAKEEM, Minister of Justice.

Ministry of Justice, Colombo 12.

09-702

### **Government Notifications**

# REGULATION MADE UNDER SECTION 45 OF THE POST OFFICE ORDINANCE

# All types of Money Orders issued with effect from 01.01.2011 to 31.12.2011

- 01. A Money Order is valid for Six months from the last day of the month of its issue. Under exceptional circumstances, the payment of a lapsed Money Order is considered upto two years from the last day of the month of its issue. A Money Order cannot be revalidated or refunded after lapsing two years from the last day of the month its issue. The value of such Money Order is credited to Government Revenue.
- 02. However, under the following exceptional circumstance, the value of a Money Order not claimed within two years could be considered for refund from Government Revenue subject to the recovery of relevant charges.
  - (a) Money Order being produced in a court of law.
  - (*b*) The Money Order being retained in a Rent Control Board on legal grounds.
  - (c) Payee of the Money Order being out of the country. (The passport should be produced.)
  - (*d*) Payee being in a very bad state of health for a long period. (Should be supported by a Medical Certificate from a Government Medical Officer.)
- 03. If the Money Orders, due to the reasons of 2 (*a*) and (*b*) above, cannot be produced within three months from the date of issuance of this *Gazette* notification, details of such Money Orders with the related case numbers etc. should be informed to the Controller of Money Order services in writing. If it is unable to produce Money Orders, it shall also be informed in writing.
- 04. But the Money Orders retaining as productions of a Court of Law or Rent Control Board and the Money Orders 09-704

subjected to disciplinary inquires held at the Department and Ministerial levels are not covered by this.

- 05. It has therefore been decided to consider refunds up to three months from the date of publishing this notification only in respect of Money Orders issued between the periods of 01.01.2011 up to 31.12.2011. This applies only to Ordinary Money Orders, Telegraph Money Orders and Fax Money Orders as well as Value Payable Money Orders. If the values of Money Orders under Paragraph 02 above have been credited to the Government Revenue, action will be taken to pay such values of Money Orders to the relevant parties treating if as a refund from the revenue in accordance with Financial Regulations.
- 06. Hence, Provincial Councils, Local Government Authorities, Rent Control Boards, State Corporations and Statutory Boards, Government Institutions, Banks, Private Institutions and the Public are notified to forward their written requests for consideration of refunds mentioned in Paragraph 02 above along with the relevant Money Orders to the under-mentioned address by Registered Post to reach the Controller (Money Order Services) within three months from the date of publishing this *Gazette Notification*.

Controller (Money Order Services), Postal Complex Building, Department of Posts, Kandy.

- 07. Further, it is also notified that no claims for refunds after the lapse of three months will be entertained in respect of lapsed Money Orders which are not fallen under our categories mentioned in Paragraph 02 above and issued between the periods 01.01.2011 to 31.12.2011 no refunds shall be made on them under any circumstances.
- 08. No refund shall be made on the Money Orders issued prior to 01.01.2011 under any circumstances.

JEEWAN KUMARANATHUNGA, Minister of Postal Services.

# **Miscellaneous Departmental Notices**

### THE DFCC VARDHANA BANK PLC

#### Notice of Resolution passed by the DFCC Vardhana Bank PLC under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990

IN terms of Section 8 of the Recovery of Loans by Banks (Special Provisions) Act, No.4 of 1990 it is hereby notified that the

following Resolution was unanimously passed on the 27th June, 2014 by the Board of Directors of DFCC Vardhana Bank PLC.

#### BOARD RESOLUTION

WHEREAS Sandun Ilangamge and Asanga Ilangamge both of Ampara have made default in payments due on Mortgage Bond No. 295 dated 24th October, 2011 and Mortgage Bond No. 319 dated 17th January, 2012 both attested by Sasika N. S. de Silva Notary Public of Ampara in favour of the DFCC Vardhana Bank PLC (formerly known as DFCC Vardhana Bank Limited).

And Whereas there is as at 30th April, 2014 due and owing from the said Sandun Ilangamge and Asanga Ilangamge to the DFCC Vardhana Bank PLC on the aforesaid Mortgage Bond Nos. 295 and 319 a sum of Rupees Eighteen Million Three Hundred and Twenty-Two Thousand Nine Hundred and Sixty-four and cents Eighty-five (Rs. 18,322,964.85) together with interest thereon from 01st May, 2014 to the date of sale on a sum of Rupees Fourteen Million Eight Hundred and Ninety-seven Thousand Seven Hundred and Twelve and cents Thirty-five (Rs. 14,897,712.35) at a rate of interest calculated at Six decimal Five per centum (6.5%) above the Weighted Average Prime Lending Rate (AWPR) per annum with the said rate being revised every three months with the dates of revision being the first business day in the months of January, April, July and October each year and on a sum Rupees One Million and Six Hundred Thousand (Rs. 1,600,000) at a rate of interest calculated at Eight decimal Five per centum (8.5%) above the Weighted Average Prime Lending Rate (AWPR) per annum with the said rate being revised every three months with the dates of revision being the first business day in the months of January, April, July and October each year published by the Central Bank of Sri Lanka.

And Whereas the Board of Directors of the DFCC Vardhana Bank PLC under the powers vested in them by the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990, do hereby resolve that the Land, Buildings and Property (stock in trade) together with everything else thereon described below mortgaged to DFCC Vardhana Bank PLC by the aforesaid Mortgage Bond Nos. 295 and 319 by Sandun Ilangamge and Asanga Ilangamge be sold by Public Auction by M/S Schockman & Samerawickreme, Licensed Auctioneer of Colombo for the recovery of the said sum of Rupees Eighteen Million Three Hundred and Twenty-two Thousand Nine Hundred and Sixty- four and cents Eighty-five (Rs. 18,322,964.85) together with interest thereon from 01st May, 2014 to the date of sale on a sum of Rupees Fourteen Million Eight Hundred and Ninety-seven Thousand Seven Hundred and Twelve and cents Thirty- five (Rs. 14,897,712.35) at a rate of interest calculated at Six decimal Five per centum (6.5%) above the Weighted Average Prime Lending Rate (AWPR) per annum with the said rate being revised every

Book 01

three months with the dates of revision being the first business day in the months of January, April, July and October each year and on a sum Rupees One Million and Six Hundred Thousand (Rs. 1,600,000) at a rate of interest calculated at Eight decimal Five per centum (8.5%) above the Weighted Average Prime Lending Rate (AWPR) per annum with the said rate being revised every three months with the dates of revision being the first business day in the months of January, April, July and October each year published by the Central Bank of Sri Lanka or any portion thereof remaining unpaid at the time of Sale together with the costs of advertising and selling the said land and premises and all monies expended and costs and other charges incurred by the DFCC Vardhana Bank PLC in accordance with the covenants of the aforesaid Mortgage Bonds in terms of Section 13 of the Recovery of Loans by Banks (Special Provisions) Act, No.4 of 1990.

#### DESCRIPTION OF THE PROPERTY MORTGAGED BY MORTGAGE BOND No. 295

All the divided and defined allotment of land called Munamalgahawatta marked Lot 2 in Plan No. 1915 dated 11.08.1998 made by P. A. K. J. Perera, Licensed Surveyor, being a resurvey of Lot B 2 depicted in Plan No. 1006A dated 18.11.1951 made by J. Malalgama, Licensed Surveyor, Presently bearing Assessment No. 62, St. Jude Mawatha situated at Dalugama within the Pradeshiya Sabha Limits of Kelaniya in the Adhikari Pattu of Siyane Korale in the District of Colombo Western Province and bounded as follows:

on *North by* - Lot 1 in Plan No.1006A; on *the East by* - Land of D. L. Perera; on *the South by* - Land of W. G. Ponnamperuma; on *the West by* - St. Jude Mawatha.

Containing in Extent 00A., 00R., 18.25P. or 0.04615 Hectares together with the right of way over along the road in the said Plan No. 1915 and everything else standing thereon.

#### DESCRIPTION OF THE PROPERTY MORTGAGED BY MORTGAGE BOND No. 319

The entirety of the stock-in-trade merchandise effects and things raw materials work-in-progress finished goods and unfinished goods Sumadura Hardware, No.119, D. S. Senanayake Street, Ampara.

Serial No.	Item	Page No.	QTY	Unit price	Total
Civiling Sheet (4*	4)				
1	Malashiyan	1	50	550.00	27,500.00
2	Rhino	3	70	550.00	38,500.00
3	Design	5	472	560.00	264,320.00
4	Colour	7	9	585.00	5,265.00

Serial No.	Item	Page No.	QTY	Unit price	Total
Aspesters Sheet				Rs.	Rs.
5	Rhino 6'	8	77	1,175.00	90,475.0
6	Rhino 8'	10	21	1,600.00	33,600.0
7	Rhino 10'	10	10	1,875.00	18,750.0
8	Rhino 12'	12	42	2,400.00	100,800.0
9	Aliya 8'	14	42	1,650.00	3,300.0
10	Aliya 10'	18	2 7	1,925.00	3,300.0 13,475.0
Vater Tank					
11	Arpico 2000L	20	3	23,500.00	70,500.0
12	Arpico 1000L	20	5	12,500.00	62,500.0
12		21 22	5 7		
	Arpico 500L			6,700.00	46,900.0
14	WYKE 1000L	23	1	11,250.00	11,250.0
15	SUN 500L	24	1	6,250.00	6,250.0
16	SOLCO2000L	25	1	22,500.00	22,500.0
17	Kendiya 1000L	26	1	10,250.00	10,250.0
18	Kendiya 500L	27	6	5,500.00	33,000.0
mano Roof She	eet				
19	2'	28	1	500.00	500.0
20	3'	29	7	750.00	5,250.0
20	4'	30	5	1,000.00	5,000.0
22	7'	31	1	1,750.00	1,750.0
22	8'	32		,	,
			1	2,000.00	2,000.0
24	9'	33	1	2,250.00	2,250.0
25	10'	34	1	2,500.00	2,500.0
26	12'	35	6	3,000.00	18,000.0
27	16'	36	3	400.00	1,200.0
28	Amano-Rain Gutter 7x10 Feet 6	37	5	2,500.00	12,500.0
29	Amano Down Pipe	38	1	3,000.00	3,000.0
Amano Gate Sh	eet				
30	1.5'	39	34	375.00	12,750.0
31	2'	40	25	500.00	12,500.0
32	3'	. 41	21	750.00	15,750.0
33	4'	42	23	1,000.00	23,000.0
34	5'	43	16	1,250.00	20,000.0
35	6'	43	42	1,500.00	63,000.0
36	7*29	45	16	1,800.00	28,800.0
30 37	7*34	46	31	1,900.00	58,900.0
	8'				
38		47	12	2,000.00	24,000.0
39	10'	48	17	2,500.00	42,500.0
40	11.6'	49	1	2,900.00	2,900.0
41	Chian Links 4'	50	1	8,500.00	8,500.0
42	Chain Links 5'	51	1	12,000.00	12,000.0
43	Chain Links Bindings	52	15.1	3,775.00	57,002.5
44	Wheel Barrow	53	7	1,750.00	12,250.0
45	Tar sheet Roll	54	9	850.00	7,650.0
8 Thick Sheet					
46	8'	56	16	1,160.00	18,560.0
47	10'	58	54	1,450.00	78,300.0
48	12'	62	1	1,740.00	1,740.0

Serial No.	Item	Page No.	QTY	Unit price Rs.	Total Rs.
Small Gutter She	eet			10.	10.
49	6'	62,63	40	294.00	11,760.00
50	7'	64	69	343.00	23,667.00
51	8'	67	582	392.00	228,144.00
52	9'	70	75	441.00	33,075.00
53	10'	73	645	490.00	316,050.00
54	12'	79	3	588.00	1,764.00
Large Gutter Sh	eet				
55	8'	83	175	400.00	70,000.00
56	9'	87	103	450.00	46,350.00
57	7'	91	25	350.00	8,750.00
58		95	3	1,250.00	3,750.00
59	Corner Sink	96	2	1,500.00	3,000.00
60	Tokyo Supper Bond	99	27	1,000.00	27,000.00
61	Lime	102	1	190.00	190.00
62	Normal polythene	105	2	7,950.00	15,900.00
63	2*2 "L" Iron	107	171	2,950.00	504,450.00
64	2 1/2 Aluminium Sheet	111	1	11,000.00	11,000.00
65	1/4 Iron sheet "C" Channel 6*2 20'	117	1	19,500.00	19,500.00
66	Iron Bar "C" Channe12*4 20'	120	1	14,000.00	14,000.00
67	Iron Bar	121	1	8,250.00	8,250.00
68	Box Bar 1 *1 "V" Channel Iron Bar	121	21	750.00	15,750.00
69	6*3 "H" Channel Iron Bar	123	1	12,000.00	12,000.00
70	4*2 "L" Channel Iron Bar	124	1	13,500.00	13,500.00
71	1*1	125	1	425.00	425.00
72	1"	126	2	1,500.00	3,000.00
73	2'	128	4	3,175.00	12,700.00
73	1 3/4"	130	16	2,575.00	41,200.00
75	1 1/2"	130	0	2,575.00	0.00
76	16mmP .wire	135	16	1,300.00	20,800.00
70	1 * 1 Box Iron Bar	135	21	750.00	15,750.00
78	2*6	140.	3	1,025.00	3,075.00
78 79	4*6	140.	2	4,350.00	8,700.00
80					
	$1 \frac{1}{2} \times \frac{1}{2}$	145	3	3,400.00	10,200.00
81	1 1/4* 5	149	1	735.00	735.00
82	1 1/4* 0.4	151	0		0.00
83	1 1/4* 0.3	154	0		0.00
84	2"*5	156	34	915.00	31,110.00
85	2*2 Gauze Roll	160	5	3,250.00	16,250.00
86	3' Regen Roll	163	1	11,000.00	11,000.00
87	4' Regen Roll	165	3	350.00	1,050.00
88	Showing Railing Bar	168	8	3,500.00	28,000.00
89	3' Gauze Roll	170	141.1	750.00	105,825.00
90	10KG	175	17	1,700.00	28,900.00
91	15KG	179	6	2,550.00	15,300.00
92	25KG	183	40	4,500.00	180,000.00
93	Shovel	188	12	500.00	6,000.00
94	Morb1e Flexible Pole	191	2	250.00	500.00
	Air Circulating Stand				

PA	RT I : SEC. (I) – GAZETTE OF THE D	EMOCRATIC SOCIALI	ST REPUBLIC O	F SRI LANKA – 19.09	0.2014
Serial No.	Item	Page No.	QTY	Unit price	Total
				Rs.	Rs.
95	Fan (Wall)	194	21	4,580.00	9,160.00
96	Yurinex	197	10	2,700.00	27,000.00
97	Lab Sink	201	1	4,700.00	4,700.00
98	Aluminum Sink	202	2	2,500.00	5,000.00
99	Aluminum Sink+ Table	204	1	3,250.00	3,250.00
100	KDK Ceiling Fan	206	6	4,600.00	27,600.00
101	Tile Beading	210	6	135.00	810.00
102	Screw light Holder	213	50	450.00	22,500.00
103	Bajaj Ceiling Fan	218	20	4,950.00	99,000.00
104	3' Mac Foil	222	266.6	95.00	25,327.00
105	Luxas 15w	228	288	315.00	90,720.00
106	Luxas 11w	234	576	300.00	172,800.00
107	Ventalation Fan 450mm	240	2	12,500.00	25,000.00
108	Big Bucket	242	12	950.00	11,400.00
109	Ceramic Normal	244	26	1,050.00	27,300.00
110	Jipsam Board	249	406	260.00	105,560.00
111	PantaRoll	255	1	2,250.00	2,250.00
112	Regen Roll	257	1	2,500.00	2,500.00
113	"Dharshana " Lime	259	157	80.00	12,560.00
114	"Ranbo" Lime	265	2	80.00	160.00
115	Sheet nut	266	412.3	225.00	92,767.50
116	2*2 Gauze 7*12 sheet	269	7	3,250.00	22,750.00
117	1/4 Coil	273	2022.9	125.00	252,862.50
118	27*80 polywood Door	281	7	2,250.00	15,750.00
119	27*75 Door Handle	284	4	2,250.00	9,000.00
120	33*75 Glass Door Lock- Left	286	2	< 000 00	12 800 00
121	33*75 Lock- Right	280	2 1	6,900.00 5,900.00	13,800.00 5,900.00
121 122	-	200	3	5,375.00	16,125.00
122	30*75 Lock- Right 27*75 Lock- Left	290	4	4,500.00	18,000.00
123	27*75 Lock- Left 27*75 Lock- Right	293	4	4,500.00	18,000.00
124	33*75 Lock-Left	293	2	4,500.00	9,000.00
125	36*75 Lock-Left	300	3	5,900.00	17,700.00
120	30*75 Lock-Right	302	2	5,375.00	10,750.00
127	30*75 Design Door	302	2	6,900.00	13,800.00
120	33*75 Handle Door	306	2	4,900.00	9,800.00
130	Door Frame Set	308	8	8,300.00	66,400.00
130	Normal . Bucket '	311	52	1,050.00	54,600.00.
Grout		511	52	1,020.00	21,000.001
Groui					
132	L/Green	317	100	75.00	7,500.00
133	Green	321	150	75.00	11,250.00
134	L/Beige	326	125	150.00	18,750.00
135	Off White	330	125	150.00	18,750.00
136	White	334	250	150.00	37,500.00
. 137	Black	338	170	150.00	25,500.00
138	L/Blue	342	250	150.00	37,500.00
139	Cream	346	300	150.00	45,000.00
140	D/Gray	351	75	150.00	11,250.00
141	S.Gray	354	75	150.00	11,250.00
142	S/Blue	358	150	150.00	22,500.00
143	L/BE/GE	362	150	150.00	22,500.00
144	BE/GE	366	50	150.00	7,500.00
145	Ivory	370	100	150.00	15,000.00
146	L/Brown	374	23	150.00	3,450.00
147	D/Brown	378	1	150.00	150.00
148	L/Pink	382	1	150.00	150.00

# I කොටස : (I) ඡෙදය - ශී ලංකා පුජාතාන්තික සමාජවාදී ජනරජයේ ගැසට් පතුය - 2014.09.19 Part I : Sec. (I) – GAZETTE OF THE DEMOCRATIC SOCIALIST REPUBLIC OF SRI LANKA – 19.09.2014

Tap         149       1         150 $1/2$ 151 $3/4$ PVC         152 $1/2$ 153       1         154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163 $1/418'$ 164       12CM         165       12CN         166       20CN         167       16CN         168 $1/49'$ 169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         Book 2       1	$\begin{array}{c} 386\\ 392\\ 398\\ \end{array}$	$   \begin{array}{r}     300 \\     150 \\     446 \\   \end{array} $ $   \begin{array}{r}     170 \\     353 \\     20 \\     16 \\     50 \\     8 \\     24 \\     34 \\   \end{array} $ $   \begin{array}{r}     56 \\     72 \\     5 \\     182 \\     2 \\     29 \\     1 \\   \end{array} $	<i>Rs.</i> 100.00 55.00 75.00 120.00 180.00 1,000.00 385.00 1,230.00 1,350.00 2,350.00 590.00 840.00 450.00 635.00 115.00 620.00 660.00	Rs. $30,000.00$ $8,250.00$ $33,450.00$ $33,450.00$ $20,400.00$ $63,540.00$ $20,000.00$ $61,60.00$ $61,500.00$ $10,800.00$ $56,400.00$ $20,060.00$ $47,040.00$ $3,175.00$ $20,930.00$ $1,240.00$ $19,140.00$
150       1/2         151       3/4         PVC         152       1/2         153       1         154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CN         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0	392 398 404 408 416 422 428 434 440 444 440 444 444 448 451 455 459 464 468	150 446 170 353 20 16 50 8 24 34 34 56 72 5 182 2 29	55.00 75.00 120.00 180.00 1,000.00 385.00 1,230.00 2,350.00 2,350.00 590.00 840.00 450.00 635.00 115.00 620.00 660.00	8,250.00 33,450.00 20,400.00 63,540.00 20,000.00 61,60.00 61,500.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
150       1/2         151       3/4         PVC         152       1/2         153       1         154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CN         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0	$\begin{array}{c} 398\\ 404\\ 408\\ 416\\ 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\\ \end{array}$	446 170 353 20 16 50 8 24 34 56 72 5 182 2 29	$\begin{array}{c} 120.00\\ 180.00\\ 1,000.00\\ 385.00\\ 1,230.00\\ 1,350.00\\ 2,350.00\\ 590.00\\ \end{array}$	33,450.00 20,400.00 63,540.00 20,000.00 61,60.00 10,800.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
151       3/4         PVC       152       1/2         153       1         154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CN         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	$\begin{array}{c} 404\\ 408\\ 416\\ 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\end{array}$	170 353 20 16 50 8 24 34 34 56 72 5 182 2 29	$120.00 \\ 180.00 \\ 1,000.00 \\ 385.00 \\ 1,230.00 \\ 1,350.00 \\ 2,350.00 \\ 590.00 \\ 840.00 \\ 450.00 \\ 635.00 \\ 115.00 \\ 620.00 \\ 660.00 \\ 10$	33,450.00 20,400.00 63,540.00 20,000.00 61,60.00 10,800.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
152       1/2         153       1         154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	$\begin{array}{c} 408\\ 416\\ 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\\ \end{array}$	353 20 16 50 8 24 34 34 56 72 5 182 2 29	$ \begin{array}{r} 180.00\\ 1,000.00\\ 385.00\\ 1,230.00\\ 1,350.00\\ 2,350.00\\ 590.00\\ \end{array} $ $ \begin{array}{r} 840.00\\ 450.00\\ 635.00\\ 115.00\\ 620.00\\ 660.00\\ \end{array} $	63,540.00 20,000.00 6,160.00 10,800.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
153       1         154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	$\begin{array}{c} 408\\ 416\\ 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\\ \end{array}$	353 20 16 50 8 24 34 34 56 72 5 182 2 29	$ \begin{array}{r} 180.00\\ 1,000.00\\ 385.00\\ 1,230.00\\ 1,350.00\\ 2,350.00\\ 590.00\\ \end{array} $ $ \begin{array}{r} 840.00\\ 450.00\\ 635.00\\ 115.00\\ 620.00\\ 660.00\\ \end{array} $	63,540.00 20,000.00 6,160.00 10,800.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         Book 2       1         1       Zing Coded 3         3       8*3 (Fiber 0	$\begin{array}{c} 416\\ 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\\ \end{array}$	20 16 50 8 24 34 34 56 72 5 182 2 29	$ \begin{array}{r} 1,000.00\\385.00\\1,230.00\\2,350.00\\2,350.00\\590.00\\\end{array} $ $ \begin{array}{r} 840.00\\450.00\\635.00\\115.00\\620.00\\660.00\\\end{array} $	20,000.00 6,160.00 61,500.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
154       2         155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	$\begin{array}{c} 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\\ \end{array}$	20 16 50 8 24 34 34 56 72 5 182 2 29	$\begin{array}{c} 385.00\\ 1,230.00\\ 1,350.00\\ 2,350.00\\ 590.00\\ \end{array}$	6,160.00 61,500.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
155       3         156       4-110T         157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         3       8*3 (Fiber 0)	$\begin{array}{c} 422\\ 428\\ 434\\ 440\\ 444\\ 444\\ 444\\ 451\\ 455\\ 459\\ 464\\ 468\\ 468\\ \end{array}$	16 50 8 24 34 34 56 72 5 182 2 29	$\begin{array}{c} 385.00\\ 1,230.00\\ 1,350.00\\ 2,350.00\\ 590.00\\ \end{array}$	6,160.00 61,500.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
156       4-110T         157       4-250T         158       6         159       National         Vire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	428 434 440 444 444 448 451 455 459 464 468	50 8 24 34 56 72 5 182 2 29	$\begin{array}{c} 1,230.00\\ 1,350.00\\ 2,350.00\\ 590.00\\ \end{array}$ $\begin{array}{c} 840.00\\ 450.00\\ 635.00\\ 115.00\\ 620.00\\ 660.00\\ \end{array}$	61,500.00 10,800.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
157       4-250T         158       6         159       National         Wire       160         160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	434 440 444 451 455 459 464 468	8 24 34 56 72 5 182 2 29	$\begin{array}{c} 1,350.00\\ 2,350.00\\ 590.00\\ \end{array}$ $\begin{array}{c} 840.00\\ 450.00\\ 635.00\\ 115.00\\ 620.00\\ 660.00\\ \end{array}$	10,800.00 56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
158       6         159       National         Wire       160         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	440 444 451 455 459 464 468	24 34 56 72 5 182 2 29	2,350.00 590.00 840.00 450.00 635.00 115.00 620.00 660.00	56,400.00 20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
159       National         Wire       160       16mm ss         161       10mmCN       162         162       12mmNellwa       163         163       1/418'       164         165       12CN       166         166       20CN       167         167       16CN       168         168       1/49'       169         169       12SS       170         170       25CN       171         171       0.5 plain wir       172         16" ctd       Sub Total 4         Book 2       1       Zing Coded 3         1       Zing Coded 3         3       8*3 (Fiber 0	444 448 451 455 459 464 468	34 56 72 5 182 2 29	590.00 840.00 450.00 635.00 115.00 620.00 660.00	20,060.00 47,040.00 32,400.00 3,175.00 20,930.00 1,240.00
160       16mm ss         161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	451 455 459 464 468	72 5 182 2 29	450.00 635.00 115.00 620.00 660.00	32,400.00 3,175.00 20,930.00 1,240.00
161       10mmCN         162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         Book 2         1       Zing Coded 3         3       8*3 (Fiber 0)	451 455 459 464 468	72 5 182 2 29	450.00 635.00 115.00 620.00 660.00	32,400.00 3,175.00 20,930.00 1,240.00
162       12mmNellwa         163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         Book 2       1         2       Hard Board 3         3       8*3 (Fiber 0	a 455 459 464 468	5 182 2 29	635.00 115.00 620.00 660.00	3,175.00 20,930.00 1,240.00
163       1/418'         164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         3       8*3 (Fiber 0)	459 464 468	182 2 29	115.00 620.00 660.00	20,930.00 1,240.00
164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         Book 2         1       Zing Coded 3         3       8*3 (Fiber 0)	464 468	2 29	620.00 660.00	1,240.00
164       12CM         165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         Book 2       4.3         1       Zing Coded 3         3       8*3 (Fiber 0)	468	2 29	620.00 660.00	1,240.00
165       12CN         166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         500k 2       4         1       Zing Coded 3         3       8*3 (Fiber 0		29		19,140.00
166       20CN         167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         6ook 2         1       Zing Coded 3         3       8*3 (Fiber 0)	472			
167       16CN         168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         500k 2       1         1       Zing Coded 3         3       8*3 (Fiber 0		1	2,000.00	2,000.00
168       1/49'         169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         cook 2         1       Zing Coded S         3       8*3 (Fiber 0)	476	1	1,190.00	1,190.00
169       12SS         170       25CN         171       0.5 plain wir         172       16" ctd         Sub Total 4         cook 2         1       Zing Coded 3         3       8*3 (Fiber 0	480	26	75.00	1,950.00
170       25CN         171       0.5 plain wir         172       16" ctd         3       Sub Total 4         2       Hard Board 3         3       8*3 (Fiber 0)	484	200	400.00	80,000.00
1710.5 plain wir17216" ctdSub Total 4sook 21Zing Coded 32Hard Board 338*3 (Fiber 0)	489	1	2,850.00	2,850.00
17216" ctd Sub Total 4321Zing Coded 338*3 (Fiber 0)		40	775.00	31,000.00
Sub Total 4 Book 2 1 Zing Coded 3 2 Hard Board 3 3 8*3 (Fiber 0	496	105	575.00	60,375.00
1Zing Coded2Hard Board38*3 (Fiber 0)				5,592,509.50
2 Hard Board 3 8*3 (Fiber 0				
3 8*3 (Fiber 0	Sheet 1-5	12	6,550.00	78,600.00
		52	650.00	33,800.00
Sheet	11-15	44	1,650.00	72,600.00
4 1/4 Plywood		20	975.00	19,500.00
5 1/2 Plywood		9	2,100.00	18,900.00
6 3/4 Plywood		3	3,000.00	9,000.00
7 1 Plywood E		2	3,950.00	7,900.00
8 36" Plywood		1	2,750.00	2,750.00
9 42" Plywood		2	3,200.00	6,400.00
10 27" Plywood		13	2,200.00	28,600.00
11 8*4 White B		8	750.00	6,000.00
12 1/4MDF	56-60	11	975.00	10,725.00
12 1/4MDF 13 1/2MDF	61-65	6	1,900.00	11,400.00
14 MDF (Fiber		3	2,250.00	6,750.00
14 MDF (Fiber 15 1MDF	71-75	5	4,000.00	20,000.00
15 1MDF 16 1/2 chip Boa		5 2		
16 1/2 chip Boa 17 Chip Boad (	rd 76-80	2 10	1,400.00 1,250.00	2,800.00 12,500.00

I කොටස	ා : (I) ඡෙදය - ශී ලංකා පුජාතාන්තික සමාජවාදී ජනරජයේ ගැසට් පතුය - 2014.09.19
PART I : SEC.	(I) – GAZETTE OF THE DEMOCRATIC SOCIALIST REPUBLIC OF SRI LANKA – 19.09.2014

Serial No.	Item	Page No.	QTY	Unit price	Total
CFL				Rs.	Rs.
18	11W3U	86-90	602	315.00	189,630.00
19	15W3U	91-95	324	315.00	102,060.00
20	20W3U	96-100	264	340.00	89,760.00
21	llW Spiral	101-105	284	315.00	89,460.00
22	15 W Spiral	106-110	69	315.00	21,735.00
23	20 W Spiral	111-115	240	340.00	81,600.0
24	26W Spiral	116-120	48	390.00	18,720.0
25	5W2U	121-125	2	290.00	580.00
26	7W2U	126-130	36	290.00	10,440.00
27	20WGlobe	131-135	273	540.00	147,420.0
28	16 Gage- Iron Sheet	136-140	8	5,750.00	46,000.00
29	16Gage- Sink Catered	141-145	5	4,200.00	21,000.00
Queigy	C				
Bluejay					
30	Tank	146-150	10	4,200.00	42,000.00
31	Water Closet	151-155	10	12,800.00	128,000.00
32	Wash Basin	156-160	8	4,500.00	36,000.0
33	Padestal	161-165	9	3,000.00	27,000.00
Sosston (Flora	)				
34	Tank	166-170	3	2,500.00	7,500.00
35	Water Closet	171-175	2	10,800.00	21,600.0
36	Wash Basin	176-180	3	3,500.00	10,500.00
37	Padestal	181-185	2	300.00	600.00
Boston(Athana)	)				
38	Tank	186-190	3	4,000.00	12,000.00
39	Water Closet	191-195	3	14,500.00	43,500.00
40	WashBasin				10,500.00
40 41		196-200	3 3	3,500.00	
41	Padestal	201-205	5	3,000.00	9,000.00
AIX					
42	Tank	206-210	9	3,500.00	31,500.00
43	Water Closet	211-215	7	12,500.00	87,500.0
44	Cover	216-220	13	2,500.00	32,500.00
45	WashBasin	221-225	26	3,500.00	91,000.00
46	Padestal	226-230	30	2,500.00	75,000.00
cocall (DUNE)	)				
47	Tank	231-235	5	2,700.00	13,500.00
48	Water Closet	236-240	5	12,800.00	64,000.00
48 49	Cover	230-240	3 7		,
				2,500.00	17,500.0
50 51	Wash Basin Padestal	246-250 251-255	6 5	3,000.00 3,500.00	18,000.0 17,500.0
31 Rocall (U rban		231-233	5	5,500.00	17,500.0
ocan (O rban					
52	Tank	256-260	10	2,500.00	25,000.0
53	Water Closet	261-265	7	10,800.00	75,600.0
54	Cover	266-270	10	1,700.00	17,000.0

Serial No.	Item	Page No.	QTY	Unit price Rs.	Total Rs.
55	WashBasin	271-275	11	3,500.00	38,500.00
56	Padestal	276-280	10	3,000.00	30,000.00
Yonta					
57	Tank	281-285	15	2,000.00	30,000.00
58	Water Closet	286-290	15	7,500.00	112,500.00
59	Cover	291-295	17	1,500.00	25,500.00
60	Wash Basin	296-300	4	2,500.00	10,000.00
61	Padestal	301-305	4	2,000.00	8,000.00
American Standa	rd				
62	Tank	306-310	5	4,000.00	20,000.00
63	Water Closet	311-315	5	1,500.00	7,500.00
64	Cover	316-320	5	2,500.00	12,500.00
Lumanke					
65	Tank	321-325	2	4,000.00	8,000.00
66	Water Closet	326-330	1	12,800.00	12,800.00
67	Cover	331-335	1	2,500.00	2,500.00
68	Wash Basin	336-340	1	3,000.00	3,000.00
69	Padestal	341-345	1	3,400.00	3,400.00
70	L Channel Iron Bar 1 3/4* 1/4 6 mm		7	2,800.00	19,600.00
	L Channel Iron Bar			,	- ,
71	1 3/4*1/4 3 mm		7	2,350.00	16,450.00
72	LARGE GUTTER-32 GAGE-SHEET 8'		3	725.00	2,175.00
Sumadura Hardw	are - Inventory			Sub Total	2,442,855.00
Serial No.	Item	Page No.	QTY	Unit price	Total
			2	Rs.	Rs.
Whether Shield 4	Ltr				
1	Rice Paddy	1-4	1	3,475.00	3,475.00
2	Smoke Gray	5-9	1	3,475.00	3,475.00
3	LylyWhite	10-13	4	3,475.00	13,900.00
4	Butter Milk	14-18	11	3,475.00	38,225.00
5	Olive	19-22	7	3,475.00	24,325.00
6	Mistral	23-25	5	3,475.00	17,375.00
7	Sun Rise	26-28	3	3,475.00	10,425.00
8	Kenyan Leaves	29-33	1	3,475.00	3,475.00
9	Rain Dance	34-37	5	3,475.00	17,375.00
10	Spice Kenyan Gold	38-41	10	3,475.00	34,750.00
10	REIVAL CIOLO	42-44	5	3,475.00	17,375.00
11		15 19	<b>^</b>		1 / 2 / 5 / 10
11 12	Cream	45-48	5	3,475.00	
11 12 13	Cream Royal	49-51	4	3,475.00	13,900.00
11 12 13 14	Cream Royal Cookies	49-51 52-54	4 5	3,475.00 3,475.00	13,900.00 17,375.00
11 12 13 14 15	Cream Royal Cookies Cairo Gld	49-51 52-54 55-57	4 5 2	3,475.00 3,475.00 3,475.00	13,900.00 17,375.00 6,950.00
11 12 13 14 15 16	Cream Royal Cookies Cairo Gld Minerva Grey	49-51 52-54 55-57 58-61	4 5 2 9	3,475.00 3,475.00 3,475.00 3,475.00	13,900.00 17,375.00 6,950.00 31,275.00
11 12 13 14 15 16 17	Cream Royal Cookies Cairo Gld Minerva Grey Heritage Red	49-51 52-54 55-57 58-61 62-65	4 5 2 9 5	3,475.00 3,475.00 3,475.00 3,475.00 3,475.00	13,900.00 17,375.00 6,950.00 31,275.00 17,375.00
11 12 13 14 15 16	Cream Royal Cookies Cairo Gld Minerva Grey	49-51 52-54 55-57 58-61	4 5 2 9	3,475.00 3,475.00 3,475.00 3,475.00	17,375.00 13,900.00 17,375.00' 6,950.00 31,275.00 17,375.00 10,425.00 34,750.00

2	I කොටස : (I) ඡෙදය - ශී ලංකා පුජාතාන්තික සමාජවාදී ජනරජයේ ගැසට් පතුය - 2014.09.19
	PART I: SEC. (I) – GAZETTE OF THE DEMOCRATIC SOCIALIST REPUBLIC OF SRI LANKA – 19.09.2014

Serial No.	Item	Page No.	QTY	Unit price	Total
				Rs.	Rs.
21	Flint Grey	75-77	10	3,475.00	34,750.00
22	Riviera	78-80	8	3,475.00	27,800.0
23	Dove White	81-84	5	3,475.00	17,375.00
24	Tropical Ocean	85-87	4	3,475.00	13,900.00
25	Pearl Bamboo	88-91	1	3,475.00	3,475.00
26	Bamboo	92-95	1	3,475.00	3,475.00
hether Shield	lLtr.				
27	Riviera	105-108	12	960.00	11,520.00
28	Lyly White	109-112	12	960.00	11,520.00
29	September Dawn	113-115	6	960.00	5,760.0
30	Butter Milk	116-119	18	960.00	17,280.0
31	Cool Breeze	120-122	12	960.00	11,520.0
31	Dove White	120-122			
			6	960.00	5,760.00
33	Cream	126-129	6	960.00	5,760.0
34	Olive	130-133	12	960.00	11,520.0
35	Cameo	134-137	6	960.00	5,760.00
36	Tile Red	138-141	18	960.00	17,280.00
37	Pepermint	142-146	12	960.00	11,520.00
38	Peach Blossom	147-150	6	960.00	5,760.00
39	Kenyan Leaves	151-154	12	960.00	11,520.00
40	Silver Glad Grey	155-159	6	960.00	5,760.00
41	Mistral	160-163	6	960.00	5,760.00
42	Flint Grey	164-167	12	960.00	11,520.00
43	Spruce	168-172	2	960.00	1,920.00
44	Rice Paddy	173-176	12	960.00	11,520.00
mulsion 4Ltr.					
45	Lime	186-189	50	2,625.00	131,250.00
46	Orange Lantern	190-192	10	2,625.00	26,250.00
40	Light Peach	193-195	6	2,625.00	15,750.00
		195-195		,	
48	Eastern Egg		9	2,625.00	23,625.0
49	Cream	199-202	3	2,625.00	7,875.0
50	Sweet Cream	203-206	17	2,625.00	44,625.00
51	Baby Blue	207-210	16	2,625.00	42,000.00
52	Ice Blue	211-214	33	2,625.00	86,625.0
53	White	215-218	77	2,625.00	202,125.00
54	Paddy Red	219-223	12	2,625.00	31,500.00
55	Soft Violet	224-226	10	2,625.00	26,250.00
56	Paradise Blue	227-230	3	2,625.00	7,875.00
57	Meadow	231-234	22	2,625.00	57,750.00
58	Mint	235-238	1	2,625.00	2,625.00
59	Cairo Gold	239-242	11	2,625.00	28,875.0
60	Sea Blue	243-246	19	2,625.00	49,875.0
61	Sun Set	247-250	16	2,625.00	42,000.0
62	SunFlower	251-254	6	2,625.00	15,750.0
63	Boat Race	255-257	48	2,625.00	126,000.0
64	South Seas	258-261	3	2,625.00	7,875.0
65	Royal Gold	262-265	13	2,625.00	34,125.0
66	Natural' Wicker	266-269	11	2,625.00	28,875.0
67	Sea Shell Lagoon	270-272	3	2,625.00	7,875.0
68	Pine Frost	273-275	14	2,625.00	36,750.0
	Spanish Rose	276-279	2	2,625.00	5,250.0
69		210-217	4	2,023.00	5,250.0
69 70	-		15		
69 70 71	Orchid Purple Lush Rose	280-282 283-285	15 7	2,625.00 2,625.00	39,375.0 18,375.0

Serial No.	Item	Page No.	QTY	Unit price	Total
				Rs.	Rs.
73	Cherry White	290-293	10	2,625.00	26,250.0
74	Pumpking	294-297	4	2,625.00	10,500.0
75	Baby Pink	298-301	16	2,625.00	42,000.0
76	Magnolia	302-305	12	2,625.00	31,500.0
77 <b>-</b> 2	Butter Milk	306-309	41	2,625.00	107,625.0
78	Rose	310-311	2	2,625.00	5,250.0
79	Lime Fizz	312-314	37	2,625.00	97,125.0
80	Marble Grey	315-317	14	2,625.00	36,750.0
81	Pastel Green	318-320	3	2,625.00	7,875.0
82	Minerva Grey	321-323	10	2,625.00	26,250.0
83	Town Peach	324-326	6	2,625.00	15,750.0
84	Blue Danube	327-328	7	2,625.00	18,375.0
85	Apricot White	329-331	3	2,625.00	7,875.0
86	Blue Flame	332-334	8	2,625.00	21,000.0
87	Aqua White	335-337	1	2,625.00	2,625.0
88	Blossom White	338-340	5	2,625.00	13,125.0
89	Sands Stone	341-342	1	2,625.00	2,625.0
90	Raw Cotton	343-344	1	2,625.00	2,625.0
91	Sea Mist	345-347	1	2,625.00	2,625.0
92	Blue Violet	348-350	8	2,625.00	21,000.0
93	Emareld Green	351-352	35	2,625.00	91,875.0
94 95	Mistral Blissful	353-354 355-356	1 2	2,625.00 2,625.00	2,625.0 5,250.0
mulsion lLtr.				,	,
96	Butter Milk	362-363	47	740.00	34,780.0
97	Sweet Cream	364-366	18	740.00	13,320.0
98	Meadow	367-368	24	740.00	17,760.0
99	Baby Blue	369-370	6	740.00	4,440.0
100	Royal Gold	371-372	6	740.00	4,440.0
101	Magnolia	373-374	6	740.00	4,440.0
102	Pumpking	375-376	6	740.00	4,440.0
103	Light Peach	377-378	12	740.00	8,880.0
104	Emareld Green	379-380	12	740.00	8,880.0
105	Deep Blue	381-382	6	740.00	4,440.0
106	Deep Pool	383-384	6	740.00	4,440.0
107	Ice Blue	385-386	24	740.00	17,760.0
108	White	387-388	22	740.00	16,280.0
109	Sea Blue	389-390		740.00	6,660.0
110	Ceiling White	391-392	18	740.00	13,320.0
111	Sun Set	393-394	12	740.00	8,880.0
112	Ice Blue	395-396	24	740.00	17,760.0
113	Baby Blue	397-398	6	740.00	4,440.0
114	Cherry white	399-400	6	740.00	4,440.0
115	Orchid Purple	401-402	12	740.00	8,880.0
116	Cairo Gold	403-404	18	740.00	13,320.0
117	Cream	405-406	12	740.00	8,880.0
118	Soft Violet	407-408	6	740.00	4,440.0
119	BoatRace	409-410	42	740.00	31,080.0
120	Lime	411-412	65	740.00	48,100.0
mulsion l0Ltr.					
121	White	420-421	9	6,250.00	56,250.0

Serial No.	Item	Page No.	QTY	Unit price	Total
Enameld 4ltr.				Rs.	Rs.
			_		
123	Pacific Coast	426-427	9	3,150.00	28,350.00
124	Bright Green	428-429	5	3,150.00	15,750.00
125	Black	430-431	8	3,150.00	25,200.00
126	Golden Yellow	432-433	2	3,150.00	6,300.00
Enameld 11tr.					
127	Slate Grey	438-439	6	875.00	5,250.00
128	Passion Pink	440-441	6	875.00	5,250.00
129	Templest	442-443	6	875.00	5,250.00
130	Butter Milk	444-445	6	875.00	5,250.00
131	Oak	446-447	6	875.00	5,250.00
132	Marine Blue	448-449	6	875.00	5,250.00
132	Aqua Pool	450-451	6	875.00	5,250.00
	Aqua 1 001		0	075.00	5,250.00
Enameld 500ml					
134	Sun Rise	454-455	6	495.00	2,970.00
Floor Paint					
135	Black 4Ltr	458-459	5	2,880.00	14,400.00
136	Epoxy ILtr	460-461	12	1,350.00	16,200.00
137	Black 500ml	462-463	6	465.00	2,790.00
Paint Related Ite	ems				
138	Sanding Sealer 4 Ltr	467-468	96	3,510.00	336,960.00
139	Sanding Sealer lLtr	469-470	12	965.00	11,580.00
140	Sanding Sealer 500ml	471-472	150	545.00	81,750.00
141	Fine Fix lLtr	473-474	1	2,600.00	2,600.00
142	Fine Fix 500ml	475-476	8	1,435.00	11,480.00
143	Nippo Coat	477-478	2	860.00	1,720.00
144	Nippo Coat	479-480	1	1,200.00	1,200.00
145	Tinner	481-482	18	1,250.00	22,500.00
	Thinki		ub Total 1	1,250.00	3,434,710.00
Rocell 16 x 16					
1	65M	1-4	1398	235.00	328,530.00
	24C	5-8	882	235.00	207,270.00
2 3	78M	9-12	23	226.00	5,198.00
4	89M	13-16	287	235.00	67,445.00
5	83M	17-20	61	235.00	14,335.00
6	7/111	21-24	558	265.00	147,870.00
7	82M	25-28	1274	235.00	299,390.00
8	7/429	29-32	795	268.00	213,060.00
9	74M	33-36	1023	226.00	231,198.00
10	29L	37-40	1023	226.00	27,798.00
			480		
11	81 M	41-44		235.00	112,800.0
12	82H	45-48	859	226.00	194,134.0
13	74K	49-52	297	226.00	67,122.00
14	77K	53-56	1091	226.00	246,566.00
15	51 H	57-60	640	226.00	144,640.00
16	7/906	61-64	1345	265.00	356,425.00
17	31 M	65-68	79	235.00	18,565.00

Serial No.	Item	Page No.	QTY	Unit price Rs.	Total Rs.
18	26H	69-72	173	235.00	40,655.00
19	24H	73-76	765	235.00	179,775.00
20	75M	77-80	56	226.00	12,656.00
21	21H	81-84	94	226.00	21,244.00
22	71L	85-88	33	235.00	7,755.00
23	77H	89-92	25	235.00	5,875.00
24	78K	93-96	36	235.00	8,460.00
25	41H	97-100	81	235.00	19,035.00
26	73J	101-104	33	235.00	7,755.00
27	88H	105-108	19	235.00	4,465.00
28	29H	109-112	35	245.00	8,575.00
29	74H	113-116	1040	245.00	254,800.00
30	54C	117-120	10	245.00	2,450.00
31	7/763	121-124	49	322.00	15,778.00
32	61M	125-128	5	245.00	1,225.00
33	69M	129-132	9	245.00	2,205.00
34	16G	133-136	46	245.00	11,270.00
35	62H	137-140	2	235.00	470.00
ROCELL 12 X 1	2				
36	3/433	157-160	265	155.00	41,075.00
37	71H	161-164	152	122.00	18,544.00
38	75L	165-168	1475	122.00	179,950.00
39	7/906	169-172	166	155.00	25,730.00
40	58H	173-176	2275	122.00	277,550.00
41	19/6f3	177-180	184	155.00	28,520.00
42	34L	181-184	849	122.00	103,578.00
43	49B	185-188	8	145.00	1,160.00
44	9/E16	189-192	15	165.00	2,475.00
45	61M	193-196	1066	135.00	143,910.00
46	7/827	197-200	70	155.00	10,850.00
47	28L	201-204	28	122.00	3,416.00
48	9/1B9	205-208	167	155.00	25,885.00
49	26K	209-212	314	122.00	38,308.00
50	22L	213-216	29	122.00	3,538.00
51	36L	217-220	207	122.00	25,254.00
52	82L	221-224	2742	122.00	334,524.00
53	57G	225-228	3066	122.00	374,052.00
54	7/717	229-232	159	165.00	26,235.00
55	36M	233-236	1068	122.00	130,296.00
56	51M	237-240	105	122.00	12,810.00
57	28H	241-244	29	122.00	3,538.00
58	21L	245-248	1794	122.00	218,868.00
59	7/102	249-252	35	195.00	6,825.00
60	43C	253-256	72	165.00	11,880.00
61	7/111	257-260	2155	165.00	355,575.00
62	42M	261-264	41	165.00	6,765.00
63	16D	265-268	0	122.00	-
64	9/4E8	269-272	965 045	155.00	149,575.00
65	64M	273-276	945	155.00	146,475.00
66	16H	277-280	2007	122.00	244,854.00
67	76H	281-284	1083	122.00	132,126.00
68	12B	285-288	841	145.00	121,945.00
69	23M	289-292	584	145.00	84,680.00
70	22H	293-296	151	122.00	18,422.00
71	71M	297-300	912	145.00	132,240.00

PAR	T I : SEC. (I) – GAZETTE OF	THE DEMOCRATIC SOCIALIS	I REPUBLIC (	DF SRI LANKA – 19.0	9.2014
Serial No.	Item	Page No.	QTY	Unit price	Total
				Rs.	Rs.
72	14H	301-304	259	122.00	31,598.00
73	53C	305-308	.466	122,00	56,852.00
74	29M	309-312	143	122.00	17,446.00
75	66M	313-316	150	145.00	21,750.00
76	84H	317-320	130	145.00	145.00
ROCELL 8X8					
77	56M	361-364	660	65.00	42,900.00
78	61M	365-368	377	65.00	24,505.00
79	23M	369-372	420	65.00	27,300.00
80	13M	373-376	13	65.00	845.00
81	68M	377-380	250	65.00	16,250.00
82	67M	381-384	309	65.00	20,085.00
83	69M	385-388	273	65.00	17,745.00
ROCELL 12 X 8					
84	Vol	405-408	790	354.00	279,660.00
ROCELL 18X 18	8				
92	76B	413-416	52	355.00	18,460.00
ROCELL 24 X 2	4				
93	СМЈ 6002	421-424	16	850.00	13,600.00
ROCELL 32 x 32	2				
94	СМЈ 8001	429-432	3	950.00	2,850.00
INDIAN 16 X 16	Í.			Sub Total 2	7,320,213.00
			270	2 < 5 0.0	<b>70 005 0</b> 0
95	1601	1-4	279	265.00	73,935.00
96	1602	5-8	148	265.00	39,220.00
97	1603	9-12	353	265.00	93,545.00
NDIAN 12 X 12	2				
98	A002	25-28	392	125.00	49,000.00
99	RM02	29-32	450	130.00	58,500.00
100	3002	33-36	0		,
101	L002	37-40	750	125.00	93,750.00
102	K002	41-44	542	125.00	67,750.00
102	G002	45-48	373	125.00	46,625.00
104	C002	49-52	348	125.00	43,500.00
105	H002	53-56	38	125.00	4,750.00
106	RM01	57-60	599	135.00	80,865.00
107	RM05	61-64	144	135.00	19,440.00
108	F002	65-68	440	125.00	55,000.00
109	RM03	69-72	807	135.00	108,945.00
110	P002	73-76	644	125.00	80,500.00
111	J002	77-80	322	125.00	40,250.00
111	R003	81-84	0	123.00	-10,230.00
				120.00	7 410 00
113	RM04	85-88	57	130.00	7,410.00

PAR	T I : SEC. (I) – GAZETTE OF	THE DEMOCRATIC SOCIALIS	ST REPUBLIC O	F SRI LANKA – 19.0	9.2014
Serial No.	Item	Page No.	QTY	Unit price	Total
				Rs.	Rs.
114	E002	89-92	530	125.00	66,250.00
115	RM06	93-96	338	130.00	43,940.00
116	B002	97-100	5	125.00	625.00
117	D002	101-104	421	125.00	52,625.00
117	M002	105-108	351	125.00	43,875.00
119	Q002	109-112	825	125.00	103,125.00
NDIAN 12 X 8					
120	5002	137-140	1202	75.00	90,150.00
121	B01	141-144	26	70.00	1,820.00
122	H01	145-148	1653	70.00	90,150.00
123	Y001	149-152	1337	70.00	1,820.00
124	Q01	153-156	1418	75.00	115,710.00
125	R002	157-160	.9	75.00	.93,590.00
126	W01	161-164	138	70.00	106,350.00
127	F00l	165-168	383	75.00	675.00
128	R001	169-172	18	70.00	9,660.00
120	R003	173-176	1397	70.00	28,725.00
130	G1	177-180	152	70.00	1,260.00
130	J01	181-184	1397	70.00	97,790.00
132 133	M01 P004	185-188	152 978	70.00	10,640.00
	R004	189-192		75.00	73,350.00
134	V002	193-196	640	70.00	44,800.00
135	A01	197-200	725	70.00	50,750.00
136	DOI	201-204	44	70.00	3,080.00
137	L001	205-208	106	75.00	7,950.00
138	V003	209-212	343	75.00	25,725.00
139	I002	213-216	1320	70.00	92,400.00
140	I01	217-220	1577	70.00	110,390.00
141	E01	221-224	45	70.00	3,150.00
142	P0I	225-228	590	70.00	41,300.00
143	V0l	229-232	684	70.00	47,880.00
144	SOI	233-236	1270	75.00	95,250.00
145	R0I	237-240	606	75.00	45,450.00
146	TOI	241-244	1345	75.00	100,875.00
147	R005	245-248	778	75.00	58,350.00
148	VOI	249~252	790	75.00	59,250.00
NDIAN 8 X 8					
152	A02	289-292	129	55.00	7,095.00
153	M250	293-296	26	55.00	1,430.00
154	M450	293-296	55	55.00	3,025.00
155	L460	297-300	418	55.00	22,990.00
156	M4505	301-304	472	55.00	25,960.00
157	B02	305-308	311	55.00	17,105.00
158	A0I	309-312	139	55.00	7,645.00
158	BOI	313-316	475	55.00	26,125.00
160	B03	317-320	409	55.00	22,495.00
161	B03 B04	321-324	409	55.00	- 22,495.00
LANKA 12 X 8					
165	39063	348-352	20	83.00	1,660.00
166	DT 11.10	353-356	393	83.00	32,619.00
167	DT 11.10 DTO 1306E		393 27		
107	DIO 1300E	357-360	21	83.00	2,241.00

I කොටස	: (I) ජෛදය - ශී ලං:	ඛා පුජාතාන්තිුක ස	සමාජවාදී ජනරජයේ	ගැසට් පතුය - 2014.	09.19
PART I : SEC.	(I) – GAZETTE OF 7	THE DEMOCRATIC	SOCIALIST REPUBL	IC OF SRI LANKA –	19.09.2014

Serial No.	Item	Page No.	QTY	Unit price	Total
				Rs.	Rs.
168	48 306B	361-364	109	83.00	9,047.00
169	DTO 1301	365-368	43	83.00	3,569.00
170	DT 37069	369-372	29	83.00	2,407.00
171	5031	373-376	39	83.00	3,237.00
172	DTO 1104	377-380	342	83.00	28,386.00
173	DT 1300	381-384	243	83.00	20,169.00
174	DT 39028	385-388	389	83.00	32,287.00
175	DT 1302E	389-392	177	90.00	15,930.00
176	DT 22300F	393-396	29	90.00	2,610.00
177	6309F	397-400	53	83.00	4,399.00
178	22071	401-404	23	83.00	1,909.00
179	DG0I	405-408	31	83.00	2,573.00
180	62111	409-412	814	83.00	67,562.00
181	UM0l	413-416	421	83.00	34,943.00
182	5057	417-420	60	83.00	4,980.00
183	37069	421-424	12	90.00	1,080.00
184	37300G	425-428	159	90.00	14,310.00
185	74390	429-432	40	90.00	3,600.00
LANKA 6 X 6					
186	PY 362	442-445	1158	26.00	30,108.00
187	PE 1028B	445-448	61	26.00	1,586.00
188	204Y	449-452	0		
189	6MT5	453-456	346	26.00	8,996.00
190	RFPY162	457-460	54	26.00	1,404.00
191	6MT3	461-464	1095	26.00	28,470.00
192	6MT2	465-468	65	26.00	1,690.00
193	6MT4	469-472	66	26.00	1,716.00
194	PE 1027 B	473-476	155	26.00	4,030.00
195	P2/1030	477-480	224	26.00	5,824.00
196	PA 1077B	481-483	118	26.00	3,068.00
197	PA I077B	484-486	132	26.00	3,432.00
198	QJ 1033	487-489	536	26.00	13,936.00
199	5019	490-492	56	26.00	1,456.00
200	PU 1032	493-495	387	26.00	10,062.00
LANKA 8 X 8					
201	67117C	495-497	23	80.00	1,840.00
202	СТМ	498-500	83	80.00	6,640.00
				Sub Total 3	3,345,821.00
			C	GRAND TOTAL	22,045,108.50

I කොටස : (I) ඡෙදය - ශී ලංකා පුජාතාන්තික සමාජවාදී ජනරජයේ ගැසට් පතුය - 2014.09.19
PART I: SEC. (I) - GAZETTE OF THE DEMOCRATIC SOCIALIST REPUBLIC OF SRI LANKA - 19.09.2014

and all other items and other movable property of every sort and description whatsoever now lying in and upon or stored at the premises "Sumadura Hardware", No.119, D. S. Senanayake Street, Ampara in the District of Ampara, Eastern Province of the Republic of Sri Lanka and in and upon any other good owns stores and premises at which the Mortgagors now is or may at any time and from time to time hereafter be carrying on business or in or upon which the said stock-in-trade merchandise effects and things raw materials work-in-progress finished goods and unfinished goods and all other items and other movable property of whatsoever kind or nature which shall or may at any time and from time to time and at all times be stored kept or lie and also the entirety of the said stock-in-trade merchandise effects and things raw materials work-in-progress finished goods and all other items and other movable property of whatsoever kind or nature which shall or may at any time and from time to nature which shall or may at any time and things raw materials work-in-progress finished goods and all other items and other movable property of whatsoever kind or nature which shall or may at any time and things raw materials work-in-progress finished goods and all other items and other movable property of whatsoever kind or nature which shall or may at any time and at all times hereafter during the continuance of these presents be brought into stored kept or lie in and upon the aforesaid good owns stores and premises and all or any other place or places of business into which the Mortgagors may at any time and from time to

time hereafter remove or carry on its business or trade or store the said stock-in-trade merchandise effects and things raw materials work-in-progress finished goods and unfinished goods and all other items and other movable property of whatsoever kind or nature including all the aforesaid property in transit to or from the aforementioned good owns stores and premises or places of business or awaiting shipment or clearance at the wharf or warehouses in the District of Colombo in the said Republic.

> LAKSHMAN SILVA, Chief Executive Officer.

DFCC Vardhana Bank PLC, No.73, W A D Ramanayake Mawatha, Colombo 2.

09-692

#### THE DFCC VARDHANA BANK PLC

#### Notice of Resolution passed by the DFCC Vardhana Bank PLC under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990

IN terms of Section 8 of the Recovery of Loans by Banks (Special Provisions) Act, No.4 of 1990 it is hereby notified that the following Resolution was unanimously passed on the 28th February, 2014 by the Board of Directors of DFCC Vardhana Bank PLC.

#### **BOARD RESOLUTION**

WHEREAS Rathnayake Mudiyanselage Chandrarathna Rathnayake of New Ratna Hardware (Private) Limited, D. S. Senanayake Street, Hinguraggoda has made default in payments due on Concurrent Mortgage Bond No. 1221/1984/1166 dated 24th August, 2009, 07th September, 2009 and 09th September, 2009 attested by A. A. Abeywardana, Notary Public of Polonnaruwa, S. M. Gunaratne, Notary Public of Colombo and A. S. Ganegoda, Notary Public of Colombo and Concurrent Mortgage Bond No. 4324/2064/1363 dated 25th March, 2010, 17th October, 2010 and 31st October, 2010 attested by S. K. N. A. Kurera, Notary Public of Anuradhapura, S. M. Gunaratne, Notary Public of Colombo and A. S. Ganegoda, Notary Public of Colombo and Concurrent Mortgage Bond No. 2212 dated 09th March, 2012 attested by S. Ranatunga, Notary Public of Polonnaruwa.

And Whereas there is as at 31st December, 2013 due and owing from the said Rathnayake Mudiyanselage Chandrarathna Rathnayake to the DFCC Vardhana Bank PLC a sum of Rupees Seven Million Two Hundred and Twenty-two Thousand Three Hundred and Eighty-five and cents Thirty-five (Rs. 7,222,385.35) together with interest thereon from 01st January, 2014 to the date of sale on a sum of Rupees Two Million Four Hundred and Sixteen Thousand Six Hundred and Sixty-two (Rs. 2,416,662) at the rate of Seven decimal Five per centum (7.5%) per annum above the Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum which will be revised every three months on the first day of business in the months of January, April, July and October of each year, together with interest thereon from 01st January, 2014 to 07th January, 2014 on a sum of Rupees Three Million Five Hundred and Sixty-four Thousand Seven Hundred and Seventy-six and cents Ninety (Rs. 3,564,776.90) at the rate of interest calculated at Twenty per centum (20%) per annum and on a sum of Rupees Nine Hundred Seventeen Thousand Seven Hundred and One and cents Sixty-nine (Rs. 917,701.69) at the rate of interest calculated at Twenty-four per centum (24%) per annum and together with interest thereon from 08th January, 2014 to the date of sale on a sum of Rupees Four Million Four Hundred and Eighty-two Thousand Four Hundred and Seventy-eight and cents Fifty-nine (Rs. 4,482,478.59) at a rate of interest calculated at Twentyfour per centum (24%) per annum.

And whereas the Board of Directors of the DFCC Vardhana Bank PLC under the powers vested in them by the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990 do hereby resolve that the leased hold lands and premises described below mortgaged to the DFCC Vardhana Bank PLC by the aforesaid Mortgage Bond Nos. 1221/1984/1166, 4324/2064/1363 and 2212 by Rathnayake Mudiyanselage Chandrarathna Rathnayake be sold by Public Auction by Messers. Schokman and Samerawickrema, Licensed Auctioneer of Colombo for the recovery of the said a sum of Rupees Seven Million Two Hundred and Twenty-two Thousand Three Hundred and Eighty-five and cents Thirty-five (Rs. 7,222,385.35) together with interest thereon from 01st January, 2014 to the date of sale on a sum of Rupees Two Million Four Hundred and Sixteen Thousand Six Hundred and Sixty-two (Rs. 2,416,662) at the rate of Seven decimal Five per centum (7.5%) per annum above the Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum which will be revised every three months on the first day of business in the months of January, April, July and October of each year, together with interest thereon from 01st January, 2014 to 07th January, 2014 on a sum of Rupees Three Million Five Hundred and Sixty-four Thousand Seven Hundred and Seventy-six and cents Ninety (Rs. 3,564,776.90) at the rate of interest calculated at Twenty per centum (20%) per annum and on a sum of Rupees Nine Hundred Seventeen Thousand Seven Hundred and One and cents Sixty-nine (Rs. 917,701.69) at the rate of interest calculated at Twenty-four per centum (24%) per

annum and together with interest thereon from 08th January, 2014 to the date of sale on a sum of Rupees Four Million Four Hundred and Eighty-two Thousand Four Hundred and Seventyeight and cents Fifty-nine (Rs. 4,482,478.59) at a rate of interest calculated at Twenty-four per centum (24%) per annum or any portion thereof remaining unpaid at the time of sale together with the cost of advertising and selling the said leased hold lands and premises and all monies expended and costs and other charges incurred by the DFCC Vardhana Bank PLC in accordance with the covenants of the aforesaid Mortgage Bonds in terms of Section 13 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990.

#### DESCRIPTION OF THE PROPERTY MORTGAGED BY MORTGAGE BOND Nos. 1221/1984/1166, 4324/2064/1363 and 2212

All that allotment of State land marked Lot No. 3424 of Final Geographical Plan No. 09 (Supplement 34 and in Field Sheet No. 185/3424 made by the Surveyor General and kept in his custody (Certified and issued by the Senior Superintendent of Surveyors of Polonnaruwa on 29.05.2009) the Land situated at Kaduruwela Village of Bazaar Street Kaduruwela Division of Lot 02 within the Minor Urban Council Limits of Polonnaruwa of Sulu Division in Meda Pattuwa of the Divisional Revenue officers Division of Thamankaduwa of Polonnaruwa District in North Central Provinces.

Bounded as follows:

North by : Lots No. 1113, 1112 and 1115; East by : Lots No. 1115 and 3425; South by : Lots No. 3425 and Lot No. 463 in A. Ja. pi. Po 34; West by : Lots No. 463 and 243 in A Ja. Pi. po 34 and Lot No. 1113;

Containing in extent of Naught decimal Naught Naught Nine Seven Hectare (0.0097 H.) together with everything standing thereon.

> LAKSHMAN SILVA, Chief Executive Officer.

DFCC Vardhana Bank PLC, No.73, W A D Ramanayake Mawatha, Colombo 2.

09-696

#### DFCC BANK

#### Notice of Resolution passed by the DFCC Bank under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990

IN terms of Section 8 of the Recovery of Loans by Banks (Special Provisions) Act, No.4 of 1990 it is hereby notified that the

following Resolution was unanimously passed on the 25th June, 2014 by the Board of Directors of DFCC Bank.

#### BOARD RESOLUTION

WHEREAS Krest Lanka Furniture and Handicraft Factory (Private) Limited a Company duly incorporated in the Democratic Socialist Republic of Sri Lanka under the Companies Act, No. 17 of 1982 bearing Registration No. N (PVS) 26219 and having its registered office at Polonnaruwa has made default in payments due on Mortgage Bond No. 1098 dated 27th November, 2008 attested by A. A. Abeywardana, Notary Public of Polonnaruwa in favour of the DFCC Bank.

And Whereas there is as at 30th April, 2014 due and owing from the said Krest Lanka Furniture and Handicraft Factory (Private) Limited to the DFCC Bank a sum of Rupees Eleven Million Two Hundred and Fifteen Thousand Six Hundred and Forty-seven and cents Forty-four (Rs. 11,215,647.44) together with interest thereon from 01st April, 2014 to the date of sale on a sum of Rupees Seven Million Two Hundred and Eightyone Thousand Three Hundred and Twenty-nine and cents Eight (Rs. 7,281,329.08) at a rate of interest calculated at the higher of the following Base Rates prevailing on the date of revision plus a Margin of Nine per centum (9%) per annum, which will be revised on the first business day in the months of January, April, July and October of each year;

 $\ast$  The Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum; or

 $\ast$  The average 91 day Treasury Bill Rate net of Withholding Tax rounded upwards to the nearest 0.5% per annum

And whereas the Board of Directors of the DFCC Bank under the powers vested in them by the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990 and the Development Finance Corporation of Ceylon Act, No. 35 of 1955 as subsequently amended, do hereby resolve that the Leasehold rights of the land and premises mortgaged to DFCC Bank by the aforesiad Mortgage Bond No. 1098 be sold by Public Auction by Messers. Schokman and Samerawickreme, Licensed Auctioneers of Colombo for the recovery of the said sum of Rupees Eleven Million Two Hundred and Fifteen Thousand Six Hundred and Forty-seven and cents Forty-four (Rs. 11,215,647.44) together with interest thereon from 01st April, 2014 to the date of sale on a sum of Rupees Seven Million Two Hundred and Eighty-one Thousand Three Hundred and Twenty-nine and cents Eight (Rs. 7,281,329.08) at a rate of interest calculated at the higher of the following Base Rates prevailing on the date of revision plus a Margin of Nine per centum (9%) per annum, which will be revised on the first business day in the months of January, April, July and October of each vear:

\* The Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum; or

\* The average 91 day Treasury Bill Rate net of Withholding Tax rounded upwards to the nearest 0.5% per annum

or any portion thereof remaining unpaid at the time of sale together with the cost of advertising and selling the said land and premises and all monies expended and costs and other charges incurred by the DFCC Bank in accordance with the covenants of the aforesaid Mortgage Bonds in terms of Section 13 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990.

#### DESCRIPTION OF THE LEASEHOLD PROPERTY MORTGAGED BY MORTGAGE BOND No. 1098

All that allotment of the land marked Lot No. 108 in F. C. P. Po. 32 in Sheet No. 07 called Anaulandawa made by the Surveyor General and kept in his custody, the land situated at Laksha Uyana village in Thamankaduwa Division Secretaries Division in the District of Polonnaruwa in North Central Province and bounded as follows: North by Lots No. 111 and 107, East by Lot No. 107, South by Lot No. 84 and West by Lots No. 109 and 111 and containing in extent Naught decimal Four Naught Four Seven Hectares (0.4047-H) and everything else standing thereon.

A. R. FERNANDO, General Manager.

DFCC Bank, No.73/5, Galle Road, Colombo 3.

09-695

#### THE DFCC BANK

#### Notice of Resolution passed by the DFCC Bank under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 04 of 1990

IN terms of Section 08 of the Recovery of Loans by Banks (Special Provisions) Act, No.04 of 1990 it is hereby notified that the following Resolution was unanimously passed on the 30th July, 2014 by the Board of Directors of DFCC Bank.

#### BOARD RESOLUTION

WHEREAS Sinnathurai Thanabalasingam and Ramesh Thanabalasingam (hereinafter referred to as 'the Co-Borrowers) both of Batticaloa has made default in payments due on Mortgage Bond No. 3884 dated 27th July, 2010 attested by V. Kanagaratnam, Notary Public of Batticaloa in favour of the DFCC Bank.

And Whereas there is as at 30th April, 2014 due and owing from the said Sinnathurai Thanabalasingam and Ramesh Thanabalasingam to the DFCC Bank a sum of Rupees One Million One Hundred and Thirty-two Thousand One Hundred and Seventy-two and cents Sixty-nine (Rs. 1,132,172.69) together with interest thereon from 01st May, 2014 to the date of sale on a sum of Rupees Eight Hundred and Ninety-three Thousand Five Hundred and Fifty-four and cents Thirty-six (Rs. 893,554.36) at a rate higher of the following base rates prevailing on the date of revision plus a margin of Seven decimal Five per centum per annum (7.5%), which will be revised every three months on the first business day in the months of January, April, July and October of each year;

 $\ast$  The Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum; or

\* The average 91 day Treasury Bill Rate net of Withholding Tax rounded upwards to the nearest 0.5% per annum

And whereas the Board of Directors of the DFCC Bank under the powers vested in them by Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990 and the Development Finance Corporation of Ceylon Act, No. 35 of 1955 as subsequently amended, do hereby resolve that the land together with everything else thereon described below mortgaged to DFCC Bank by the aforesaid Mortgage Bond No. 3884 by Sinnathurai Thanabalasingam be sold by Public Auction by M/S Schokman and Samerawickreme, Licensed Auctioneer of Colombo for the recovery of the said a sum of Rupees One Million One Hundred and Thirty-two Thousand One Hundred and Seventytwo and cents Sixty-nine (Rs. 1,132,172.69) together with interest thereon from 01st May, 2014 to the date of sale on a sum of Rupees Eight Hundred and Ninety-three Thousand Five Hundred and Fifty-four and cents Thirty-six (Rs. 893,554.36) at a rate higher of the following base rates prevailing on the date of revision plus a margin of Seven decimal Five per centum per annum (7.5%), which will be revised every three months on the first business day in the months of January, April, July and October of each year;

 $\ast$  The Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum; or

\* The average 91 day Treasury Bill Rate net of Withholding Tax rounded upwards to the nearest 0.5% per annum

or any portion thereof remaining unpaid at the time of sale together with the cost of advertising and selling the said land and premises and everything else standing thereon and all monies expended and costs and other charges incurred by the DFCC Bank in accordance with the covenants of the aforesaid Mortgage Bond No. 3884 in terms of Section 13 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990.

#### DESCRIPTION OF THE PROPERTY MORTGAGED BY MORTGAGE BOND No. 3884

An allotment of land called "Maturankudahvayal *alias* Periyaveli", depicted as Lot No. 1 in Plan No. 1468/2006 dated 14.12.2006, drawn by A. E. K. Tissaveerasinghe, Licensed Surveyor, situated in the village of Chatturukkondan, in Manmunai Pattu, in the District of Batticaloa, Eastern Province, bounded on the North land of Sithamparapillai, on the East by Channel, on the South by Reservation for road and, on the West by land of P. Yoganantham and containing in extent Eighty-two decimal Zero Two Perches (0A., 02R., 02.02P.). This together with all rights therein contained.

The land described in the Schedule above is re-surveyed and depicted in Plan No. 739/2008 dated 09.07.2008 drawn by A. E. K. Tisseverasinghe, Licensed Surveyor is as follows:

An allotment of land called "Madurankudah Vayal", depicted in Plan No. 739/2008 dated 09.07.2008 drawn by A. E. K. Tisseverasinghe, Licensed Surveyor, bearing assessment No. 652, situated at Trincomalee Road, in the village of Chatturukondan, in Ward No. SU-6, within the M. C. Limits of Batticaloa, in the Divisional Secretariat Manmunai North, in the District of Batticaloa, Eastern Province, bounded on the North by paddy field of P. Yoganathan, on the East by reservation along channel, on the South by R. D. A. Reservation and on the West by Paddy field of S. Thanabalasingham and containing in extent 0.02579 Hectares or Two Rood Two decimal Two Zero Perches (0A., 02R., 02.20P.). This together with all rights therein contained.

> A. R. FERNANDO, General Manager.

DFCC Bank, No.73/5, Galle Road, Colombo 3.

09-694

#### THE DFCC BANK

#### Notice of Resolution passed by the DFCC Bank under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990

IN terms of Section 8 of the Recovery of Loans by Banks (Special Provisions) Act, No.4 of 1990 it is hereby notified that the following Resolution was unanimously passed on the 30th July, 2014 by the Board of Directors of DFCC Bank.

#### BOARD RESOLUTION

WHEREAS Sellaturei Santhalingam carrying on business under the name, style and firm of "Lithu Hardware" situated at Trincomalee has made default in payments due on Mortgage Bond No. 2051 dated 18th March, 2013 attested by T. Thusyanthan, Notary Public of Trincomalee in favour of the DFCC Bank.

And Whereas there is as at 31st May, 2014 due and owing from the said Sellaturei Santhalingam to the DFCC Bank a sum of Rupees Eight Million Eight Hundred and Seventy-four Thousand and Fifty-nine and cents Forty-three (Rs. 8,874,059.43) together with interest thereon from 01st June, 2014 to the date of sale on a sum of Rupees Eight Million Three Hundred and Thirty-three Thousand Three Hundred and Thirty (Rs. 8,333,330) at a rate of Eight decimal One per centum (8.1%) per annum above the Four Weeks Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum which will be revised on the first business day of every month.

And whereas the Board of Directors of the DFCC Bank under the powers vested in them by Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990 and the Development Finance Corporation of Ceylon Act, No. 35 of 1955 as subsequently amended, do hereby resolve that the land together with everything else thereon described below mortgaged to DFCC Bank by the aforesaid Mortage Bond No. 2051 by Sellaturei Santhalingam be sold by Public Auction by M/S Schokman and Samerawickreme, Licensed Auctioneer of Colombo for the recovery of the said a sum of Rupees Eight Million Eight Hundred and Seventy-four Thousand and Fifty-nine and cents Forty-three (Rs. 8,874,059.43) together with interest thereon from 01st June, 2014 to the date of sale on a sum of Rupees Eight Million Three Hundred and Thirty-three Thousand Three Hundred and Thirty (Rs. 8,333,330) at a rate of Eight decimal One per centum (8.1%) per annum above the Four weeks Average Weighted Prime Lending Rate (AWPR) rounded upwards to the nearest 0.5% per annum which will be revised on the first business day of every month or any portion thereof remaining unpaid at the time of sale together with the cost of advertising and selling the said land and premises and everything else standing thereon and all monies expended and costs and other charges incurred by the DFCC Bank in accordance with the covenants of the aforesaid Mortgage Bond No. 2051 in terms of Section 13 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990.

#### DESCRIPTION OF THE PROPERTY MORTGAGED BY MORTGAGE BOND No. 2051

An allotment of land called "Panaiyadivalavu" marked as Lot 2, 3 and 4 in Plan No. 834 drawn by P. Mahendranathan, Licensed Surveyor Trincomalee dated 27.08.2003 situated in the Village of Uppuveli, within the Pradeshiya Sabha Limits of Trincomalee Town and Gravets, in the Divisional Secretary Division of Trincomalee Town and Gravets, Trincomalee District Eastern Province bounded as follows:

North by V 2249 vested in the Village Council now to Pradeshiya Sabha of Uppuveli and Lot 1 in the Plan No. 834 belonging to the Vendors Gnanamanohary Sivapalan Sriskandarajah, Sriskandarajah Srimanobavan and Sriskandarajah Srihary, East by Lot 1 in the Plan No. 834 and Love lane, South by Love lane and Farm road and V 729 claimed by Thangarajah Mahendradevi on LDO permit and West by V 729 claimed by Thangarajah Mahendradevi on LDO Permit and V 2249 vested in the Village Council to Pradeshiya Sabha of Uppuveli. In extent One Rood and Twenty decimal Six Three Perches (0A., 1R., 20.63P.).

The above said land called "Panaiyadivalavu" marked as Lot 2, 3 and 4 in Plan No. 834 drawn by P. Mahendranathan, Licensed Surveyor, Trincomalee dated 27.08.2003 was resurveyed and depicted as Lot A in Plan No. 834B drawn by P. Mahendranathan, Licensed Surveyor Trincomalee dated 10.09.2011 bearing assessment No. 24/1 and 24/2, Thaddakai Road, Trincomalee situated in the Village of Uppuveli, in ward No. 04 in the Grama

Niladari Division of Uppuveli 243 within the Pradeshiya Sabha Limits of Trincomalee Town and Gravets, in the Divisional Secretary Division of Trincomalee Town and Gravets Trincomalee District Eastern Province bounded as follows:

North by V2249 vested in the Village Council (Now to Pradeshiya Sabha of Uppuveli) and Lot 1 in Plan No. 834 dated 27.08.2003 Drawn by P. Mahendranathan, Licensed Surveyor, East by Lot 1 in Plan No. 834 dated 27.08.2003 drawn by P. Mahendranathan, Licensed Surveyor and Love Lane, South by Love lane and V729 claimed by Thangarajah Mahendradevi, on LDO Permit and West by V729 claimed by Thangarajah Mahendradevi on LDO Permit, V729 and V 2249 vested in the Village Council (Now to Pradeshiya Sabha of Uppuveli). In Extent One Rood and Eight decimal Seven Five Perches (0A., 01R., 08.75P.) together with the Building and all the other Rights relating thereto.

> A. R. FERNANDO, General Manager.

DFCC Bank, No.73/5, Galle Road, Colombo 3.

09-693

#### COMMERCIAL BANK OF CEYLON PLC

#### Resolution adopted by the Board of Directors of Commercial Bank of Ceylon PLC (Registration No. PQ 116) under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990

Account No. : 1166001220. Loan Account No. : 1335474. J. B. Engineering Company (Private) Limited.

AT a meeting held on 29th August, 2014 the Board of Directors of Commercial Bank of Ceylon PLC resolved specially and unanimously as follows:-

Whereas J. B. Engineering Company (Private) Limited a Company duly incorporated under the Laws of Sri Lanka and having its Registered Office at No. 202B, Old Tangalle Road, Hambantota as the Obligor and Hapuarachchige Kamal Dayananda Senarathna as the Mortgagor have made default in the payment due on Bond No. 19793 dated 23rd December, 2011 attested by G. A. C. P. Ganepola, Notary Public of Gampaha in favour of Commercial Bank of Ceylon PLC (the land morefully described in the 01st Schedule hereto).

And whereas J. B. Engineering Company (Private) Limited a Company duly incorporated under the Laws of Sri Lanka and having its Registered Office at No. 202B, Old Tangalle Road, Hambantota as the Obligor and Gammedde Hewa Upul Chandana Jayasekara as the Mortgagor have made default in the payment due on Bond No. 519 dated 20th September, 2012 attested by H. S. H. Silva, Notary Public of Balapitiya in favour of Commercial Bank of Ceylon PLC (the land morefully described in the 2nd Schedule hereto).

and there is now due and owing to the Commercial Bank of Ceylon PLC as at 7th July, 2014 a sum of Rupees Eight Million Nine Hundred and Forty-seven Thousand Five Hundred and Seventeen and cents Seven (Rs. 8,947,517.07) on the said Bonds and the Board of Directors of Commercial Bank of Ceylon PLC under the powers vested by Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990 do hereby resolve that the properties and premises morefully described in the Schedules hereto and mortgaged to the Commercial Bank of Ceylon PLC by the said Bond Nos. 19793 and 519 be sold by Public Auciton by Mr. L. B. Senanayake, Licensed Auctioneer of Thrivanka and Senanayake Auctioneers of No. 182, 3rd Floor, Hulftsdorp Street, Colombo 12 for the recovery of the said sum of Rupees Eight Million Nine Hundred and Forty-seven Thousand Five Hundred and Seventeen and cents Seven (Rs. 8,947,517.07) with further interest on a sum of Rs. 3,642,751.76 at 17% per annum and a sum of Rs. 4,863,876.31 at 24% per annum from 08th July, 2014 to date of sale together with costs of Advertising and any other charges incurred less payments (if any) since received.

#### THE FIRST SCHEDULE

All that divided and defined allotment of land depicted as Lot A in Plan No. 1953A dated 20th February, 2005 made by U. M. Ariyasena, Licensed Surveyor of the land called Yakkala Estate situated at Kehelwathugoda within the Municipality Limits of Gampaha in Meda Pattu of Siyane Korale in the District of Gampaha Western Province and bounded on the North by Rafalwatta Road, on the East by Lot B, on the South by Temple Road and on the West by land of H. A. K. D. Senarathna and containing in extent One Rood One decimal Nine Perches (0A., 1R., 1.9P.) together with buildings and everything else standing thereon and registered in Folio No. E 805/185 at the Gampaha Land Registry.

Together with full and right, liberty and license of ingress, egress, regress, passage and way to go, return pass and reason foot or otherwise howsoever and with or without vehicles of every kind laden or laden in over and along the Road Reservation under and right to lay electric and telephone cables, electric and telecommunication cables drainage sewerage and water pipes overhead wires, water mains, water pipes and other contrivances in under over and or along the road reservations depicted in said Plan No. 1953A.

#### THE SECOND SCHEDULE

1. All that divided and defined contiguous allotment of lands marked Lots 30 and 31 depicted in Plan No. 151A/2012 dated 08th May, 2012 made by Mr. M. Thejasiri, Licensed Surveyor of the land called Lot A of Igalkandakele together with all the buildings, Plantations and everything else standing thereon and situated at Igala in Elpitiya within the Pradeshiya Saba Limits of Elpitiya within the Divisional Secretary area of Elpitiya within the Grama Niladhari Division of No. 26A Igala in the Bentota Walallaviti Korale of Galle District in Southern Province and bounded on the North by Lots 27, 28 and 29 of same land, on the East by T. P. 163074, on the South by Lot B of Igalkandakele belonging to Obadage Siyadoris and on the West by Gulanahene Kanda and Igalkanda Kele belonging to State and containing in extent Five Acres (5A., 0R., 0P.) or Hectares 2.020 as per aforesaid Plan bearing No. 151A/2012.

Aforesaid Lots 30 and 31 in Plan No. 151A/2012 is a resurvey of the Lots below mentioned.

All that divided and defined contiguous allotment of lands marked Lots 30 and 31 depicted in Plan bearing No. 151 dated 24, 21 and 20 day of January made by Mr. C. P. Senanayake, Licensed Surveyor of the land called Lot A of Igalkandakele together with all the buildings, Plantations and everything else standing thereon and situated at Igala in Elpitiya within the Pradeshiya Sabha Limits of Elpitiya within the Divisional Secretary Area of Elpitiya within the Grama Niladhari Division of No. 26A Igala in the Bentota Walallaviti Korale of Galle District in Southern Province and bounded on the North by Lots 27, 28 and 29 of the same land, on the East by T. P. 163074, on the South by Lot B of Igalkandakele belonging to Obadage Siyadoris and on the West by Gulanahene Kanda and Igalkanda Kele belonging to State and containing in extent Five Acres (5A., 0R., 0P.) as per aforesaid Plan bearing No. 151 and registered under Volume/Folio B 512/109 at the Land Registry of Balapitiya.

2. All that divided and defined allotment of land marked Lot AB depicted in Plan bearing No. 151A/2012 dated 08th May, 2012 made by Mr. M. Thejasiri, Licensed Surveyor of the defined and contiguous land called Lot 1 and 2 of Kohilagala Okanda Hena and Gulanekanda together with all the buildings, Plantations and everything else standing thereon and situated at Igala in Elpitiya within the Pradeshiya Saba Limits of Elpitiya within the Divisional Secretary area of Elpitiya within the Grama Niladhari Division of No. 26A Igala in the Bentota Walallaviti Korale of Galle District in Southern Province and bounded on the North by Lot AA of the same land, on the East by Lot AH of the same land, on the South by Lot AC of the same land and on the West by Land claimed by K. T. P. de Silva and containing in extent Five decimal Five Perches (0A., 0R., 5.50P.) as per aforesaid Plan bearing No. 151A/2012.

Aforesaid Lot AB in Plan No. 151A/2012 is a resurvey of the land below mentioned:-

All that divided and defined allotment of land marked Lot AB depicted in Plan bearing No. 784A dated 09th August, 2000 of Mr. M. Thejasiri, Licensed Surveyor of the defined and contiguous land called Lot 1 and 2 of Kohilagala Okanda Hena and Gulanekanda together with all the buildings, Plantations and everything else standing thereon and situated at Igala in Elpitiya within the Pradeshiya Saba Limits of Elpitiya within the

Divisional Secretary Area of Elpitiya within the Grama Niladhari Division of No. 26A Igala in the Bentota Walallaviti Korale of Galle District in Southern Province and bounded on the North by Lot AA of the same land, on the East by Lot AH of the same land, on the South by Lot AC of the same land and on the West by Land claimed by K. T. P. de Silva and containing in extent Five decimal Five Perches (0A., 0R., 5.50P.) as per aforesaid Plan bearing No. 784A and registered under Title B 460/100 of the Land Registry of Balapitiya.

3. Together with all that full free and undisturbed right to leave liberty and license of ingress, egress regress, passage and way and the right to erect lay down and install electricity, water services overhead and underground and other mains in along and under and over that divided and defined allotment of land marked Lot AH depicted in Plan bearing No. 784A dated 09th August, 2000 of Mr. M. Thejasiri, Licensed Surveyor of the defined and contiguous land called Lots 1 and 2 of Kohilagala Okanda Hena and Gulanekanda together with all the buildings, plantations and everything else standing thereon and situated at Igala in Elpitiya within the Pradeshiya Saba Limits of Elpitiya within the Divisional Secretary Area of Elpitiya within the Grama Niladhari Division of No. 26A Igala in the Bentota Walallaviti Korale of Galle District in Southern Province and bounded on the North by Lots W. K and J2 of the same land, on the East by Lots J1, J2, J, H, F, E, D, C, B, U, V, S, R and T of the same land, on the South by Road from Elpitiya to Batuwanhena, on the West by Lots L, M, N, O, P, Q, X, Y, Z, AA, AB of the same land and containing in extent Two Roods and Twenty-two Perches (0A., 2R., 22P.) depicted in aforesaid plan bearing No. 784A and registered under Title B529/129 of the Land Registry of Balapitiya.

> Mrs. RANJANI GAMAGE, Company Secretary.

09-630

#### COMMERCIAL BANK OF CEYLON PLC

#### Resolution adopted by the Board of Directors of Commercial Bank of Ceylon PLC (Registration No. PQ 116) under Section 4 of the Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990

Loan Account No. : 1638007. Darshanee Enterprises & Tyre Centre.

AT a meeting held on 28th July, 2014 the Board of Directors of Commercial Bank of Ceylon PLC resolved specially and unanimously as follows:-

Whereas Poruthotage Ajith Fernando and Kankanam Gamage Nalani carrying on business in Partnership under the name, style and firm of Darshanee Enterprises & Tyre Centre as Obligors and Kankanam Gamage Nalani as the Mortgagor have made default in the payment due on Bond No. 13 dated 10th May, 2012 attested by M. S. P. Peiris, Notary Public of Kurunegala in favour of Commercial Bank of Ceylon PLC (the land morefully described in the 01st Schedule hereto).

And whereas Poruthotage Ajith Fernando and Kankanam Gamage Nalani carrying on business in Partnership under the name, style and firm of Darshanee Enterprises & Tyre Centre as Obligors and Kankanam Gamage Nalani as the Mortgagor have made default in the payment due on Bond No. 14 dated 10th May, 2012 attested by M. S. P. Peiris, Notary Public of Kurunegala in favour of Commercial Bank of Ceylon PLC (the land morefully described in the 2nd Schedule hereto).

And whereas Poruthotage Ajith Fernando and Kankanam Gamage Nalani carrying on business in Partnership under the name, style and firm of Darshaniee Enterprises & Tyre Centre as Obligors and Kankanam Gamage Nalani as the Mortgagor have made default in the payment due on Bond Nos. 15 dated 10th May, 2012 attested by M. S. P. Peiris, Notary Pubilc of Kurunegala and 1797 dated 07th September, 2012 attested by E. M. N. Ekanayake, Notary Public of Negombo favour of Commercial Bank of Ceylon PLC (the land morefully described in the 3rd Schedule hereto) and there is now due and owing to the Commercial Bank of Ceylon PLC as at 06th June, 2014 a sum of Rupees Six Million Nine Hundred and Fifty-two Thousand Six Hundred and Thirteen and cents Sixtynine (Rs. 6,952,613.69) on the said Bonds and the Board of Directors of Commercial Bank of Ceylon PLC under the powers vested by Recovery of Loans by Banks (Special Provisions) Act, No. 4 of 1990, do hereby resolve that the properties and premises morefully described in the 1st, 2nd and 3rd Schedules hereto and mortgaged to the Commercial Bank of Ceylon PLC by the said Bond Nos. 13, 14, 15 and 1797 be sold by Public Auction by Mr. L. B. Senanayake, Licensed Auctioneer of Thrivanka and Senanayake, Auctioneers of No. 182, 3rd Floor, Hulftsdorp Street, Colombo 12 for the recovery of the said sum of Rupees Six Million Nine Hundred and Fifty-two Thousand Six Hundred and Thirteen and cents Sixty-nine (Rs. 6,952,613.69) with further interest on a sum of Rs. 6,470,000 at 22% per annum from 07th June, 2014 to date of sale together with costs of Advertising and any other charges incurred less payments (if any) since received".

#### THE 1st SCHEDULE

All that divided and defined allotment of land marked Lot 10 depicted in Plan No. 5619 dated 05th March, 2008 made by R. B. Nawaratna, Licensed Surveyor of the land called Bowatta Estate together with the buildings, trees, plantation soil and everything else standing thereon situated at Bowatta Village in Kiniyama Korale of Katugampola Hatpattu in the District of Kurunegala North Western Province and which said Lot 10 is bounded on the North by Lot 9, on the East by Lot 3 in Plan No. 2469, on the South by Lot 11 and on the West by Lot 13 (Road Reservation 6m. wide) and containing in extent Seventeen Perches (0A., 0R., 17P.) or 0.0430 Hectares according to the said Plan No. 5619 and registered under the Volume/Folio M 141/238 at Kuliyapitiya Land Registry.

Together with the right of way in over and along the Road Reservation morefully described as follows:-

All that divided and defined allotment of land marked Lot 13 (Reservation for Road) depicted in Plan No. 5619 dated 05th March, 2008 made by R. B. Nawaratna, Licensed Surveyor of the land called Bowatta Estate situated at Bowatta Village aforesaid and which said Lot 13 is bounded on the North by Road High Ways from Chilaw to Kurunegala, on the East by Lots 3, 5, 6, 7, 8, 9, 10, 11, 12 and 25, on the South by Lots 24 and 25 and on the West by Lots 2, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23 and 24 and containing in extent One Rood and Eleven decimal Two Perches (0A., 1R., 11.2P.) or 0.1295 Hectares according to the said Plan No. 5619 and registered under the Volume/Folio M 141/232 at Kuliyapitiya Land Registry.

#### THE 2nd SCHEDULE

All that divided and defined allotment of land marked Lot 08 depicted in Plan No. 5619 dated 05th March, 2008 made by R. B. Nawaratna, Licensed Surveyor of the land called Bowatta Estate together with the buildings, trees, plantation soil and everything else standing thereon situated at Bowatta Village in Kiniyama Korale of Katugampola Hatpattu in the District of Kurunegala North Western Province and which said Lot 08 is bounded on the North by Lot 7, on the East by Lot 3 in Plan No. 2469, on the South by Lot 9 and on the West by Lot 13 (Road Reservation 6m. wide) and containing in extent Seventeen Perches (0A., 0R., 17P.) or 0.0430 Hectares according to the said Plan No. 5619 and registered under the Volume/Folio M 141/228 at Kuliyapitiya Land Registry.

Together with the right of Way in over and along the Road Reservation Mark Lot 13 depicted in Plan No. 5619 aforesaid.

#### THE 3rd SCHEDULE

All that divided and defined allotment of land marked Lot 01 depicted in Plan No. 268/2005 dated 22nd February, 2005 made by T. Kotambage, Licensed Surveyor of the land called Ankadagawahena together with the buildings, trees, plantation soil and everything else standing thereon situated at Maunawa Village in Kiniyama Korale of Katugampola Hatpattu in the District of Kurunegala North Western Province and which said Lot 01 is bounded on the North by High way from Chilaw to Kurunegala, on the East by Pradeshiya Sabha Road to Maunawa, on the South by remaining portion of same land and on the West by Mawiwewa Tank and containing in extent One Rood (0A., 1R., 0P.) according to the said Plan No. 268/2005 and registered under Volume/Folio M 150/228 at Kuliyapitiya Land Registry.

Mrs. RANJANI GAMAGE, Company Secretary.

09-629